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 Psychology 
Objective Question Bank for TDC Part I (Honours) 

Paper I – General Psychology 

BRABU 

 
1- fuEufyf[kr esa ls dkSu euksoSKkfud ugha gS \ 

(a) oqaV       (b) Ldhuj 

(c) vkbaLVhu      (d) dks¶dk  

Which of the following is not a psychologist ? 

(a) Wundt        (b) Skinner 

(c) Einstein      (d) Koffka 
 

2- iz;ksxkRed fof/k ds nks"k gSa ! 

(a) fu;a=.k dk vHkko     (b) d`f=e v/;;u 
(c) iz;ksT; dk vlg;ksx     (d) mijksDr lHkh 
Demerits of Experimental method is . 

(a) Lack of coutrol     (b) Artificial study 

(c) Non co-operation of the subject   (d) All the above 
 

3- psru vuqHkwfr dk v/;;u fdl fof/k }kjk lcls vPNs lss fd;k tkrk gS \ 

(a) Lk{kkRdkj fof/k      (b) iz”ukoyh fof/k 

(c) a vkSj b nksuks       (d) var%fujh{k.k fof/k  

By which method conscious experience may be studied properly 

(a) Interview method      (b) Questionnaire method  

(c) a and b both      (d) Introspective method 
 

4- fuEukafdr esa ls dkSu euksfoKku dh fo"k;oLrq esa “kkfey ugha gS \ 

(a) vuqHkwfr       (b) O;ogkj 

(c) izk.kh       (d) buesa ls dksbZ ugha 

Which of the following is not a part of scope of psychology? 

(a) Experience      (b) Behavior 

(c) Organism      (d) None of these 
 

5- euksfoKku psru vuqHkwfr dk foKku gSA euksfoKku dh ;g ifjHkk"kk fdl ǹf"Vdks.k ij vk/kkfjr gS\ 

¼a½ ekuorkokn       ¼b½ O;ogkjokn 

¼c½ lajpukokn       ¼d½ xsLVkYVokn 

“Psychology is a science of experience.”  On which perspective this statement of 

psychology is based ? 

(a)  Humanistic      (b) Behavioristic 

(c) Structuralism                                       (d) Gestaltistic 
 

6- HkhM+ dk v/;;u djus ds fy, dkSu lh fof/k mi;qDr gS\ 

¼a½ iz;ksxkRed fof/k      ¼b½ oLrqfu"B izs{k.k 

¼c½ vkREk izs{k.k      ¼d½ lk{kkRdkj 
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Which method is appropriate to study crowd ? 

(a) Experimental method    (b) Objective observation 

(c) Self observation     (d) Interview 
 

7- izs{k.k dk vFkZ gS& 

¼a½ izfrfdz;k djuk      ¼b½ voyksdu djuk   

¼c½ ikjLifjd laca/k      ¼d½ v/;;u iz.kkyh 

Meaning of observation is. 

(a) To react      (b) To observe 

(c) Interpersonal relation    (d) Study pattern 
 

8- iz;ksxdrkZ fdl pj esa tksM+&rksM+ djrk gS\ 

¼a½ fu;af=r pj esa      ¼b½ e/;orhZ pj esa 

¼c½ Lora= pj esa       ¼d½ vkfJr pj esa 

In which variable experimenter may manipulate. 

(a) control variable     (b) Intermediate variable 

(c) Independent variable    (d) Dependent variable 
 

9- euksfoKku dk y{; D;k gSa A 

¼a½ vfHk;kstu djuk      ¼b½ O;ogkj dh O;k[;k djuk  

¼c½ laKkukRed fodkl djuk    ¼d½ mijksDr lHkh 

What is the Goal of Psychology? 

(a) To adjust       (b) To describe behavior 

(c) To develop cognition     (d) All the above 

 
10- fuEufyf[kr esa ls dkSu euksfoKku dh uohure “kk[kk gS  \ 

¼a½ lkekU; euksfoKku     ¼b½ okrkoj.kh; euksfoKku 

¼c½ uSnkfud euksfoKku     ¼d½ ;ksfxd euksfoKku 

Which of the following is the most recent branch of psychology  ? 

(a) General psychology    (b) Enviromental psychology  

(c)  Clinical psychology    (d) yoga psychology 
 

11- raf=dk ra= dh lcls NksVh bdkbZ gS& 

¼a½ vehck       ¼b½ U;qjksu 

¼c½ lq"kqEuk       ¼d½ laf/k LFky 

Smallest unit of nervous system is 

(a) Amoeba      (b) Neuron 

(c) Spinal cord      (d) Synapse 
 

12- FkSyel fuEukafdr esa ls fdldk Hkkx gSA 

¼a½ efLr"d       ¼b½ lq"kqEuk 

¼c½ a vkSj b nksuks      ¼d½ mijksDr esa dksbZ ugha 

Which of the following part is thalamus? 

(a) Brain       (b) Spinal cord 

(c) a and b both      (d) None of above 
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13- nf̀"V laosnuk fdl Hkkx ls gksrh gS\ 

¼a½ Ik”pikyh      ¼b½ vxzikfy 

¼c½ “ka[kikfy      ¼d½ e/; ikfy 

From which part visual sansation occurs. 

(a) Occipital lobe     (b) Frontal lobe 

(c) Temporal lobe     (d) Parietal lobe 
 

14- gkbiksFkSyel fu;af=r djrk gS\ 

¼a½ lkekftd izsjd dks     ¼b½ laosx dks 

¼c½ rkieku dks       ¼d½ tSfod izsjd dks  

Hypothalamus controls. 

(a) Social motives     (b) Emotions 

(c) Temperature      (d) Biological motives 
 

15- efLr"d ds lcls mijh Hkkx esa raf=dk dksf”kdk dh ,d iryh ijr gksrh gSA mls dgrs gS! 

¼a½ raf=dk vkosx      ¼b½ eq[; rarq 

¼c½ oYdqV       ¼d½ lapkyd 

There is a thin layer of neurons on the uppermost part of brain. Which is called- 

(a)  Nerve impulse     (b) Axon 

(c)  Cortex      (d) Conductor 
 

16- fuEufyf[kr esa ls dkSu Luk;qdks"k dk Hkkx gS\ 

¼a½ dsUnzd        ¼b½ lsrq 

¼c½ “kkf[kdk       ¼d½ dksUl 

Which of the following is a part of neuron. 

(a) Neucleous      (b) Pones 

(c) Dentrites      (d) Cones 

 
17- izefLRk"d oYdqV dk jax gksrk gS\ 

¼a½ lQsn        ¼b½ /kwlj 

¼c½ dkyk       ¼d½ mijksDr es ls dksbZ Hkh 

Colour of celebral cortex  is. 

(a) White       (b) Grey 

(c) Black       (d) None of above 

 
18- lq"kqEuk esa raf=dkvksa ds fdrus tksM+s gksrs gS\ 

¼a½ 40       ¼b½ 42 

¼c½ 32       ¼d½ 50 

How many pairs of nerves are there in spinal cord ? 

(a) 40       (b) 42 

(c) 32       (d) 50 
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19- lq"kqEuk vkSj efLr"d dks tksM+us dk dke djrk gS\ 

¼a½ lsrq       ¼b½ gkbiksFkSyel 

¼c½ FkSyel       ¼d½ e/; efLr"d 

Which ono of these joins brain and spinal cord ? 

(a) Pones       (b) Hypothalamus 

(c) Thalamus      (d) Mid brain 

 
20- gkbiksFkSyel fu;af=r djrk gS\ 

¼a½ Hkw[k        ¼b½ I;kl  

¼c½ ;kSu       ¼d½ mijksDr lHkh 

Hypothalamus controls. 

(a) Hunger      (b) Thirst 

(c) sex       (d) All the above 

 
21- Luk;qeaMy dk dkSu lk Hkkx “kkjhfjd larqyu cukus esa lgk;d gS\ 

¼a½ e/; efLr"d      ¼b½ esMqyk 

¼c½ y?kq efLr"d      ¼d½ lq"kqEuk 

Which part of nervous sysyem is helpful to balance the body? 

(a) Mide brain      (b) Medula 

(c) Cerebellum      (d) Spinal cord 

 
22- buesa ls dkSu efLr"d dk Hkkx ugha gS\ 

¼a½ iSfdza;kt      ¼b½ fi;q"k xzafFk 

¼c½ ;d`r       ¼d½ mijksDr esa ls dksbZ ugha 

Which of the following is not a part of brain. 

(a) Pancreas      (b) Pituitary glands 

(c) Liver       (d) None of above 
 

23- fuEufyf[kr esa ls dkSu xzkgd ugha gS\ 

¼a½ thHk       ¼b½ ekalis”kh 

¼c½ dku       ¼d½ vk¡[k 

Which of the following is not receptor. 

(a) Tongue      (b) Muscles 

(c) Ear       (d) Eye 

 
24- laosx dh voLFkk esa Luk;qeaMy dk dkSu lk Hkkx fuf"dz; gks tkrk gS\ 

¼a½ lq"kEuk       ¼b½ lgkuqHkwfrd eaMy 

¼c½ milgkuqHkwfrd eaMy     ¼d½ buesa ls dksbZ ugha 

Which part of the nervous system becomes ineffective in the stage of emotions 

(a) Spinal cord      (b) Sympathetic system 

(c) Para Sympathetic system    (d) None of above 
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25- gekjs “kjhj ess fdruh KkusafUnz;k¡ gS\ 

¼a½ 5       ¼b½ 3 

¼c½ 6       ¼d½ 4 

How many sense organs are there in our body? 

(a) 5       (b) 3 

(c) 6       (d) 4 

 
26- esMqyk dgk¡ vofLFkr gS \ 

¼a½ efLr"d esa      ¼b½ lq"kqEuk esa 

¼c½ lq"kqEuk ds Bhd mij     ¼d½ xzafFk esa 

Where is medulla situated? 

(a) In brain      (b) In spinal cord 

(c) Just above the spinal cord    (d) In glands 

 
27- “kjhj esa izR;sd fdz;k ds fy, efLr"d esa LFkku fu/kkZfjr gS A dkSu fl)kar bldh O;k[;k djrk gS \ 

¼a½ lkewfgd fdz;k fl)kar     ¼b½ dSuu ckMZ fl)kar 

¼c½ LFkkuhd̀r fdz;k fl)kar     ¼d½ buesa ls dksbZ ugha 

There is a fixed place for every action in the brain for human body. Which theory  

explains this? 

(a) Mass action theory     (b) Cannon-board theory 

(c) Localization theory    (d) None of these 

 
28- lkewfgd fdz;k fl)kar dgrk gS \ 

¼a½ lq"kqEuk lHkh fdz;kvksa dk lapkyu djrk gS   

¼b½ efLr"d lHkh fdz;kvksa dk laiknu lfEefyr :i ls djrk gSA 

¼c½ efLr"d vyx&vyx fdz;kvksa dk lapkyu vyx&vyx rjg ls djrk gS  

¼d½ ”kkjhfjd fdz;kvksa dk lapkyu FkSyel djrk gSA 

Mass action theory explains. 

(a) Every action is conducted by spinal cord  

(b) Every action is conducted by brain as a whole 

(c) Brain conducts different actions by different area  

(d) Thalamus conducts physical activities. 

 
29- efLr"d ds v/;;u dh fof/k gS\ 

¼a½ o.kZukRed fof/k      ¼b½ fouk”k ;k {k; fof/k  

¼c½ phM+&QkM+ fof/k      ¼d½ mijksDr lHkh 

Method of studding brain function is . 

(a) Descriptive method    (b) Degeneration method 

(c) Anatomical method    (d) All the above 
 

30- fuEufyf[kr esa ls dkSu efaaaaaaaa aaLr"d dk Hkkx ugha gS\ 

¼a½ xqnkZ       ¼b½ og̀r efLr"d  

¼c½ eMqyk       ¼d½ lsrq 

Which of the following is not a part of brain. 

(a) Kidney      (b) Cerebrum 

(c) Medulla      (d) Pones 
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31- var%L=koh xzafFk;k¡& 

¼a½ ufydkvksa esa izokfgr gksrk gS    ¼b½ ufydk foghu gksrh gSa 

¼c½ lewg esa gksrh gSa      ¼d½ ekalisf”k;ksa ls tqM+h gksrh gSA 

Endocrine glands. 

(a) Flow in ducts     (b) Ductless 

(c) In groups      (d) Attached with muscles 
 

32- FkkbjkbM xzaFkh fLFkr gksrh gS \ 

¼a½ xqnkZ ds ikl       ¼b½ xnZu ds ikl 

¼c½ yhoj ds ikl       ¼d½ vek”k; ds ikl 

Thyroid gland is situated - 

(a) Near kidney      (b) Near neck 

(c) Near Liver      (d) Near stomach 

 
33- var%lzkoh xzafFk;ksa ls tks L=ko fudyrk gS mls dgrs gS\ 

¼a½ gkjeksu       ¼b½ raf=dk vkosx 

¼c½ jDr ufydk      ¼d½  balqyhu 

The secretion coming out of endocrine glands is called. 

(a) Hormone       (b) Nerve impulse 

(c) Blood vessels     (d) Insuline 
 

34- fdlh O;fDr dk fodkl le; ls igys ;k foyEc ls gksuk fuHkZj djrk gS\ 

¼a½ jDr /kkjk ij       ¼b½ raf=dk ra= ij 

¼c½ efLr"d ij      ¼d½ var%L=koh xzafFk;ksa ij 

Early or late development  of a person depends upon. 

(a) Blood system     (b) Nervous system 

(c) Brain       (d) Endocrine glands 
 

35- ewyj&yk;j dk laaca/k fuEufyf[kr es ls fdlls gS\ 

¼a½ cqf) ls       ¼b½ Hkze ls  

¼c½ O;fDrRo ls       ¼d½ f”k{k.k ls  

Which of the following is related to Muller-Lyer. 

(a) Intelligence      (b) Illusion 

(c) Personality      (d) Learning 

 
36- fdl izfdz;k ds }kjk vFkZiw.kZ Kku gksrk gS\ 

¼a½ laosnuk       ¼b½ foHkze 

¼c½ f”k{k.k       ¼d½ izR;{khdj.k 

By which process we receive meaningful  knowledge. 

(a) Sensation      (b) Hallucination 

(c) Learning      (d) Perception 
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37- izR;{khdj.k esa KkusfUnz;ksa ls “k q: gksdj efLr"d rd gksusokyh izfdz;k dks dgrs gS\ 

¼a½ ,dhdj.k izfdz;k     ¼b½ izfrdkRed izfdz;k 

¼c½ xzkgd izfdz;k      ¼d½ fparu izfdz;k 

The process of perception which starts from sense organs and proceeds to brain is  

called. 

(a) Unification process    (b) Symbolic process 

(c) Receptor process     (d) Thinking process 

 
38-  izR;{khdj.k dh fo”ks"krk gS& 

¼a½ rkRdkfyd vuqHko     ¼b½ lfdz; ekufld izfdz;k 

¼c½ p;ukRed izfdz;k     ¼d½ mijksDr lHkh 

Characteristic of perception is. 

(a) Immediate experience    (b) Active mental process 

(c) Selective process     (d) All the above 

 
39- vkd`fr i"̀BHkwfe izR;{khdj.k lacaf/kr gS& 

¼a½ xsLVkYV mikxe ls     ¼b½ O;ogkjoknh mikxe ls 

¼c½ lajpukoknh mikxe ls     ¼d½ ekuorkoknh mikxe ls 

Figure-ground perception is related with. 

(a) Gestalt approach     (b) Behavioristic approach 

(c) Structuralism approach     (d) Humanistic approach 
 

40-  laKku dk lcls ljy izdkj dkSu lk gS\ 

¼a½ laosx       ¼b½ laosnuk  

¼c½ Hkze        ¼d½ izR;{khdj.k 

Which one is the most easy type of cognition. 

(a) Emotion      (b) Sensation 

(c) Illusion      (d) Perception 
 

41- jLlh dks lk¡i le>uk dgykrk gS& 

¼a½ Hkze        ¼b½ Hkzk¡fr 

¼c½ foHkze       ¼d½ izR;{k.k 

Perception of rope as snake is called- 

(a) Illusion      (b) Dellusion 

(c) Hallucination     (d) Perception 

 
42- izR;{k.k ds O;fDrxr dkj.k gS \ 

¼a½ “kkjhfjd vko”;drk     ¼b½ oLrqvks dk ewY; 

¼c½ ekufld foU;kl     ¼d½ mijksDr lHkh 

Personal factor of perception is. 

(a) Physical needs     (b) Value of objects 

(c) Mental set      (d) All the above 
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43- euksof̀r] ekud vkSj lq>ko&  ;s rhuksa izR;{khdj.k dk dkSu lk dkjd gS& 

¼a½ O;fDrd dkjd      ¼b½ lkaLd`frd dkjd 

¼c½ lekftd dkjd      ¼d½ tSfod dkjd 

Attitude, norm and suggestion – what factor are these in perception. 

(a) Personal factor     (b) Cultural factor 

(c) Social factor      (d) Biological factor 
 

44- fuEukafdr esa ls dkSu izkFkfed laosx ugha gS\ 

¼a½ izse        ¼b½ Hk; 

¼c½ dzks/k       ¼d½ bZ";kZ 

Which of the following is not primary emotion? 

(a) Love       (b) Fear 

(c) Anger       (d) Jealous 
 

45- fuEufyf[kr es ls dkSu dFku vlR; gS \ 

¼a½ Hkze ,d izdkj dk izR;{k.k gSA    ¼b½ Hkze ,d ekufld izfdz;k gSA 

¼c½ Hkze ds fy, mÌhiu t:jh gSA    ¼d½ Hkze flQZ o;Ldksa dks gh gksrk gSA 

Which of the following is not true? 

(a) Illusion is a type of perception   (b) Illusion is a mental  

process 

(c) Stimulus is essential for illusion   (d) The effect of illusion is  

evident in adults only 
 

46- fdlus dgk fd izR;{khdj.k ,d lfdaz; ekufld izfdaz;k gS\ 

¼a½ :p       ¼b½ ewyj 

¼c½ fgyxkMZ       ¼d½ ekxZu 

Who said that perception is an active mental process. 

(a) Ruch       (b) Muller 

(c) Hilgard      (d) Morgan 

 
47- xsLVkYV fl)kar ds izfriknd gSa \ 

¼a½ dksgyj       ¼b½ dks¶dk 

¼c½ ojnkbej      ¼d½ mijksDr lHkh 

Founder of Gestalt theory is/are- 

(a) Kohlar      (b) Koffka 

(c) Wortheimer      (d) All the above 
 

48- xyr izR;{khdj.k dks dgrs gS \ 

¼a½ laosnuk       ¼b½ Hkze 

¼c½ foHkze       ¼d½ mÌhiu 

Wrong perception is called. 

(a) Sensation      (b) Illusion 

(c) Hallucination     (d) Stimulus 
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49- fcuk mÌhiu ds fdlh oLrq dk izR;{khdj.k dgykrk gS\ 

¼a½ foHkze       ¼b½ Hkze 

¼c½ O;keksg       ¼d½ laosnuk 

Perception of anything without stimulus is called. 

(a) Hallucination     (b) Illusion 

(c) Delusion      (d) Sensation 
 

50- Hkze dh mRifr ds fy,& 

¼a½ mÌhiu dk gksuk vko”;d ugha gS   ¼b½ mÌhiu dk gksuk vko”;d gS 

¼c½ O;fDr nks"kh gS      ¼d½ mijkDr lHkh 

For the origin of illusion - 

(a) Stimulus is not necessary    (b) Stimulus is necessary 

(c) Person is faulty     (d) All the above 

 
51- ok.k&js[kk] ia[k&js[kk Hkze fn;k x;k\ 

¼a½ foVsdj ds }kjk      ¼b½ fxxjl vkSj dksjsu ds }kjk 

¼c½ ewyj&yk;j ds }kjk     ¼d½ ikdZj ds }kjk 

Arrow headed line,  Feather headed line illusion was given by. 

(a) By Whittaker     (b) By Gigres and Coren 

(c) By Millar L      (d) By Parker 

 
52- eq[; :i ls Hkze fdrus izdkj ds gksrs gS\ 

¼a½ 4       ¼b½ 2 

¼c½ 5       ¼d½ 3 

Mainly How many types of illusion are there ? 

(a) 4       (b) 2 

(c) 5       (d) 3 
 

53- ewyj&yk;j Hkze ,d& 

¼a½ {kf.kd Hkze gS      ¼b½ ekufld izfdz;k gS 

¼c½ vizR;{k.k gS      ¼d½ T;kfefrd Hkze gS 

Muller Lyer illusion is a- 

(a) Temporary illusion     (b) A mental process 

(c) Misperception     (d) Geometrical illusion 
 

54- ^vgk* vuqHko dk nwljk uke gS\ 

¼a½ izR;k”kk       ¼b½ vuqca/ku 

¼c½ lw>       ¼d½ lehirk 

The second name of ‘aha experience’ is. 

(a) Expectancy      (b) Conditioning 

(c) Insight      (d) Contiguity 
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55- iz;Ru =qfV fl)kar ds vuqlkj f”k{k.k esa fdldh Hkwfedk ugha gksrh gS\ 

¼a½ ;knf̀PNd fdz;k,a     ¼b½ iz.kksn 

¼c½ iqjLdkj       ¼d½ lq> 

Which one has no role in learning according to Trial and error theory ? 

(a) Random activity     (b) Drive 

(c) Incentive      (d) Insight 

 
56- lh[kus esa egRoiw.kZ Hkwfedk gS\ 

¼a½ izR;{khdj.k dk      ¼b½ laosnuk dk 

¼c½ vfHkizsj.k dk      ¼d½ laosx dk 

Which one plays important role in learning ? 

(a) Perception      (b) Sensation 

(c) Motivation      (d) Emotion 
 

57- f”k{k.k dks izHkkfor djusokys rRo gS\ 

¼a½ iz”kalk        ¼b½ f”k{k.k lkexzh 

¼c½ a vkSj b nksuks      ¼d½ euksof̀r 

The factor/factors which influence learning is/are. 

(a) Praise       (b) Learning material 

(c) a and b both      (d) Attitude 

 
58- lqyrku uked ouekuq"k ij fdlus iz;ksx fd;k\ 

¼a½ dks¶dk us      ¼b½ dksgyj us  

¼c½ iSoyo us       ¼d½ ewyj us  

Who did experiments on chimpanzee named ‘Sultan’. 

(a) Koffka      (b) Kohlar 

(c) Pavlov      (d) Muller 
 

59- iSoyo us fdl fl)kar dk izfriknu fd;k\ 

¼a½ lw> dk fl)kar      ¼b½ iz;Ru&=qfV fl)kar  

¼c½ laca/k fl)kar       ¼d½ Dykfldy vuqdwyu fl)akr 

Which theory is stablished by Pavlov. 

(a) Insight theory     (b) Trial and Error theory 

(c) Connectionism theory    (d) Classical conditioning  

theory 

 
60- Ldhuj us iz;ksx fd;k\ 

¼a½ fcYyh ij       ¼b½ ouekuq"k ij 

¼c½ pwgk ij       ¼d½ dqrk ij 

Skinner experimented on. 

(a) Cat       (b) Chimpanzee 

(c) Rat       (d) Dog 
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61- iSoyo ds iz;ksx es dqrs us Hkkstu ns[kdj D;k izfrfdz;k fd;k   \ 

¼a½ ykj Vidk;k      ¼b½ HkkSadk 

¼c½ nkSM+k       ¼d½ mijksDr lHkh 

In Pavlov’s experiment dog saw the food and reacted as- 

(a) Dropped saliva     (b) Bark 

(c) Run       (d) All the above 

 
62- ckj&ckj nqgjkus ij lh[kh xbZ fdz;k dks dgrs gS\ 

¼a½ izHkko dk fu;e      ¼b½ rRijrk dk fu;e 

¼c½ izHkko dk izlkj      ¼d½ vH;kl dk fu;e  

Learning after repeated activity is called. 

(a) Law of effect     (b) Law of readiness 

(c) Spread of effect     (d) Law of exercise 

 
63- FkkWuZMkbd }kjk izfrikfnr  vH;kl ds fu;e ds mifu;e gS\ 

¼a½ izlkj dk fu;e      ¼b½ mi;ksx dk fu;e 

¼c½ vuqi;ksx dk fu;e     ¼d½ b vkSj c nksuks 
Sub-Law of Thorndike’s law of exercise is 

(a) Law of spread     (b) Law of use 

(c) Law of disuse     (d) b and c both 
 

64- f”k{k.k esa egRoiw.kZ Hkwfedk fuHkkrk gS\ 

¼a½ “kkfCnd O;ogkj      ¼b½ izcyu 

¼c½ vkdkj nsuk      ¼d½ dk;Zdkjh lh[kuk 

Which one plays major role in learning - 

(a) Verbal behavior     (b) Reinforcement 

(c) Shaping      (d) Programmed learning 
 

65- dksgyj ds izfl) ouekuq"k iz;ksx dks dgrs gS\ 

¼a½ dksgyj ckWDl      ¼b½ NM+h leL;k 

¼c½ ckWDl leL;k       ¼d½ b vkSj c nksuks 
Famous experiment of Kohlar on chimpanzee is called. 

(a) Kohlar Box      (b) Stick problem 

(c) Box problem     (d) b and c  both 
 

66- iSoyo ds iz;ksx esa ?kaVh dh vkokt gS\ 

¼a½ vuqdwfyr mÌhiu     ¼b½ vuqdwfyr vuqfdz;k 

¼c½ vuuqdwfyr mn~nhiu     ¼d½ rVLFk mÌhiu 

In Pavlov experiment the sound of bell is? 

(a) Conditioned stimulus    (b) Conditioned response  

(c) Unconditioned stimulus    (d) Neutral stimulus 
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67- foyksiu dh O;k[;k dh xbZ\ 

¼a½ Ldhuj ds }kjk      ¼b½ onkZbej ds }kjk 

¼c½ dksgyj ds }kjk      ¼d½ mijksDr esa ls dksbZ ugha 

Extinction is described by. 

(a) Skinner      (b) Wertheimer 

(c) Kohlar      (d) None of above 
 

68- iSoyo ds iz;ksx dh eq[; ckrsa gS\ 

¼a½ ?kaVh&Hkkstu      ¼b½ mÌhid&vuqfdz;k 

¼c½ mÌhid&lkekU;hdj.k     ¼d½ mijksDr lHkh 

The main aspect of Pavlov’s experiment is. 

(a) Bell-Food      (b) Stimulus-response 

(c) Stimulus generalization    (d) All the above 

 
69- lh[kus ds lw> ds fl|kUr ds vuqlkj izk.kh dks lQyrk feyrh gS \ 

¼a½ iz;kl ds }kjk      ¼b½ la;ksxo”k 

¼c½ laca/k ds }kjk      ¼d½ vpkud 

According to Insight theory, an organism gets success  - 

(a) By trial       (b) By chance 

(c) By connection     (d) Suddenly 

 
70- fuEufyf[kr es ls dkSu lk dFku lgh gS \ 

¼a½ iz;Ru Hkwy fl)kar dk izfriknu iSoyo us fd;k  ¼b½ izcyu f”k{k.k ds fy, vko”;d  

ughaS 

¼c½ f”k{k.k ,d laosxkRed izfdz;k gS    ¼d½ mijkDr es dksbZ ugha 

Which of the following statement is correct- 

(a) Trial and error theory is established by Pavlov   

(b) Reinforcement is not essential for learning. 

(c) Learning is an emotional process    

(d) None of above 
 

71- Lej.k ,d iqu:Riknd izfdz;k gS] fdlus dgk\ 

¼a½ okVlu us       ¼b½ bfcxgkWl us 

¼c½ dks¶dk us       ¼d½ dSuu us 

Who said, remembering is a reproductive process. 

(a) Watson       (b) Ebbinghaus 

(c) Koffka      (d) Canon 
 

72- fuEukafdr es dkSu lh izfdz;k Lej.k dk fgLlk ugha gS\ 

¼a½ fparu        ¼b½ /kkj.k 

¼c½ f”k{k.k       ¼d½ izR;kogu 

Which of the following is not a part of remembering process. 

(a) Thinking      (b) Retention 

(c) Learning      (d) Recall 
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73- fdlh fo"k; dks lh[kus ij efLr"d esa dqN ifjorZu gksrs gSa] mls dgrs gS\ 

¼a½ xkS.k Lèfr      ¼b½ Lèfr fpUg 

¼c½ laosnh Lèfr      ¼d½ izkFkfed laosnh 

While learning any subject there are some changes that occur in brain is called. 

(a) Secondary memory    (b) Memory trace 

(c) Sensory memory     (d) Primary memory 
 

74- Lèfr dks ekius dh fof/k gS\ 

¼a½ izR;kogku fof/k      ¼b½ izR;fHkKku fof/k 

¼c½ iqu%lh[kuk fof/k      ¼d½ mijksDr lHkh 

The method of measuring memory is. 

(a) Recall method     (b) Recognition method 

(c) Relearning method     (d) All the above 
 

75- Lej.k dk iz;ksxkRed v/;;u loZizFke fdlus fd;k\ 

¼a½ pkyZl       ¼b½ okVZysV 

¼c½ bfoxgkWl      ¼d½ :xj 

Who did experimental studies of remembering at first? 

(a) Charles      (b) Bartlett 

(c) Ebbinghaus      (d) Ruger 
 

76- iwoZ esa lh[ks x;s vuqHkoksa dk Lej.k u gksuk dgykrk gS\ 

¼a½ Lèfr fpUg      ¼b½ foLej.k 

¼c½ ekufld izfdz;k      ¼d½ ladsr 

No recall of previous experiences is known as - 

(a) Memory trace     (b) Forgetting 

(c) Mental process     (d) Cues 

  
77- euksfoKku esa igyk iz;ksx”kkyk fdlds }kjk fodflr fd;k x;k \ 

(a) fofy;e tsEl        (b) fofy;e oq.V 

(b) fofy;e eSdMqxy       (d) lj Qzkafll xkYVu 

By whom first laboratory of Psychology was established. 

(a)  William James        (b) William wundt 

(c)  William Mc Dougall       (d) Sir Francis Galton 

 
 

78- fuEufyf[kr esa ls dkSu euksfoKku dh fo"k;&oLrq gS \ 

(a)  psru vuqHkwfr               (b) vuqHkwfr 

(c)   O;ogkj         (d) mijksDr lHkh 

Which of the following is the subject matter of psychology. 

    (a) Consious experience        (b) Experience 

(c) Behaviour          (d)  All of these 
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79- euksfoKku foKku gS \ 

(a) leFkZd foKku         (b) vkn”kZ lwpd foKku  

(c)  izkd`frd foKku         (d) mijksDr lHkh 

Psychology is a science of which type- 

(a) Positive science          (b) Normative science 

(c) Natural science     (d)   All the above 

 
80- iz;ksxkRed euksfoKku dh LFkkiuk dc gqbZ \ 

(a) 1879 esa          (b) 1860 esa 

(c) 1896 es a      (d) 1863 esa 

When was Experimental Psychology established. 

(a) In 1879           (b) In 1860  

(c )  In 1896               (d) In 1863 

 
81- vuqHkwfr fdl fof/k dh eq[; fo”ks"krk gS \ 

(a) izs{k.k fof/k          (b) iz;ksxkRed fof/k 

(c) var% fujh{k.k fof/k     (d) mijksDr esa dksbZ ugha 

Experience is the characteristic of which method- 

(a) Observation method     (b) experimental method 

(c) Introspective method          (d) None of the above 

 
82- fuEufyf[kr esa ls dkSu O;ogkfjd euksfoKku ugha gS \ 

(a) f”k{kk euksfoKku      (b) vkS/kksfxd euksfoKku 

(c) [ksy euksfoKku      (d) cky euksfoKku 

Which of the following is not behavioural Psychology ? 

(a) Educational psychology     (b) Industrial psychology 

(c) Sports psychology               (d) Child psychology 

 
83- lkekU; euksfoKku D;k gS \ 

(a) “kqn~/k euksfoKku      (b) O;ogkfjd euksfoKku  

(c)   a vkSj b nksuks      (d) buesa ls dksbZ ugha 

What is General psychology. 

(a) Pure psychology      (b) Applied psychology 

(c) a and b both      (d) None of these 
 

84- euksfoKku dh lcls igyh fof/k gS \ 

(a) var%fujh{k.k      (b) cká fufj{k.k 

(b) iz;ksx fof/k       (d) buesa ls dksbZ ugha 

The first used method of psychology was. 

(a) Introspection      (b) Objective observation  

(c) Experimental method     (d) None of these 
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85- euksfoKku ,d viwoZ foKku dgykrk gSA bldk vk/kkj gS% 

(a) Cká fujh{k.k fof/k      (b) var% fujh{k.k fof/k 

(c) iz;ksxkRed fof/k      (d) lk{kkRdkj fof/k 

Psychology  is called a unique science. The base of it is. 

(a) Objective observation method   (b) Introspective method 

(c) Experimental method    (d) Interview method  

 
86- iz;ksxkRed fof/k dk lcls ekSfyd xq.k gS \ 

(a) fu;a=.k       (b) mPPk oS/krk 

(c) yphykiu      (d) mPp fo”oluh;rk 

The basic characteristics of experimental method is. 

(a) Control      (b) High validity 

(c) Flexibility      (d) High reliability 

 
87- fuEufyf[kr esa ls dkSu xzkgd ugha gS\ 

(a) Ukkd        (b) Ropk 

(c) xzafFk       (d) dku 

Which of the following is not a receptor. 

(a) Nose        (b) Skin  

(c) Glands      (d) Ear 
 

88- lgtfdz;k dk lapkyu fuEufyf[kr es ls fdlds }kjk gksrk gS\ 

(a) e/; efLr’d       (b) lq"kqEuk 

(b) y?kq efLr’d      (d) FkSyel 

Which of following conducts reflex action. 

(a) Mid brain       (b) Spiral cord  

(c) Cerebellum       (d) Thalamus 

 

 
89- fuEufyf[kr es ls dkSu laosnuk dk fof”k"V xq.k ugha gS\ 

(a) LFkkuh; fpUg      (b) Li"Vrk  

(c) foLrkj        (d) rhozrk 

Which of the following is not a characteristics of Sensation. 

(a) Local sign       (b) Clearness 

(c) Extensity      (d) intensity 

  
90- izR;{khdj.k dSlh ekufld izfdz;k gS\ 

(a) KkukRed       (b) HkkokRed  

(c) fdz;kRed       (d) bues ls dksbZ ugha 

What type of mental process is  perception. 

(a) Cognitive        (b) Affective  

(c) Conative      (d) None of these 
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91- fuEufyf[kr izsjdksa esa lcls vf/kd “kfDr”kkyh izsjd gS \ 

(a) ;kSu        (b) I;kl  

(c) Hkw[k        (d) vf/kdkj 

Which of the following motives is most powerful motive. 

(a) Sex       (b) Thirst 

(c) Hunger       (d) Power  

 
92- laosx fdl rjg dh ekufld izfdz;k gS\ 

(a) HkkokRed       (b) laKkukRed 

(c) fdz;kRed       (d) ;s lHkh 

Which type of mental process is emotion. 

(a) Affective       (b) cognitive  

(c) Conative      (d) All of these 

 
93- fuEufyf[kr esa ls dkSu “kkfCnd ijh{k.k gS\  

   (a)  Ikkl ,ykWx ijh{k.k      (b) chus lkbeu ijh{k.k 

   (c) CykWd fMtkbu ijh{k.k     (d) osLyj cq+)h ijh{k.k 

Which of the following is verbal test.? 

   (a)  Pass Along test    (b) Bent Simon test 

  (c)  Block Design test    (d) Wechsler intelligence test 

 
 

94- lh[kuk fuEufyf[kr esa ls fdl Js.kh dh ekufld izfdz;k gS \ 

(a) laKkukRed       (b) HkkokRed  

(c) fdz;kRed       (d) izsj.kkRed 

Which category of mental process is learning. 

(a)  Cognitive       (b) Affective 

(c)  Functional        (d) Motivational  
 

95-  fdlus dgk fd le; dk chruk Hkwyus dk dkj.k gS\ 

(a) feYVu        (b) jscj ,oa jscj 

    (c)  ,fcaxgkSl      (d) buesa ls dksbZ ugha 

Who said that lapse of time is cause of forgotting. 

(a) Melton       (b) Reber and rebor 

(c) Effinghaus      (d) None of above 

 
96-  dkSu fl|kar fparu dh O;k[;k djus esa iw.kZr% l{ke gSA 

(a) dsUnzh; fl|kar       (b) ifj/kh; fl|kar 

   (c) fi;kts fl|kar       (d) buesa ls dksbZ ugha 

  Which theory is capable to describe thinking. 

(a) Central theory      (b) peripheral theory 

(c) Piaget’s theory      (d) None of these 
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97- eSlykS us fdl fl/nkar dk izfriknu fd;k\ 

(a) lekftd vf/kxe fl|kar     (b) vko”;drk fl|kar   

  (c)  {ks= fl|kar       (d) vkRe dk;kZUOk;u fl|kar  

Which theory is stablished by Maslow . 

(a) Social learning theory     (b) Need theory 

(c) Field theory       (d)Self actualization theory 

 
98- ^^euksfoKku O;ogkj dk foKku gS** ;s fdlus dgk\ 

(a) Qzk;M us      (b) bfcaxgkWl us  

   (c) okVlu  us       (d) oqaV us 

Who said’ psychology is a science of behavior . 

(a)  Freud       (b) Ebbinghaus 

(c)  Watson       (d) wundt 

 
99- euksfoKku ds {ks= gS& 

(a) lQy vfHk;kstu      (b) f”k{kk esa 

  (c)  fodklkRed v/;;u      (d) mijksDr lHkh 

Scope of psychology is. 

(a) In successful adjustment     (b) In education 

(c) Development studies     (d) All the above 

 
100-  var%fujh{k.k fof/k ,d 

(a) vkRefu"B fof/k gS     (b) oLrqfu"B fof/k gS 

(c) iz;ksxkRed fof/k gS      (d) mijksDr lHkh 

Introspective method is a. 

   (a)  Subjective method     (b) objective method 

(c) Experimental method     (d) All the above 

 
101- cká fufj{k.k fof/k ds xq.k gS 

(a) oLrqfu"Brk     (b),d gh le; esa vf/kd O;fDr;ksa dk v/;;u 

  (c) foLr̀r {ks= es mi;ksx    (d) mijksDr lHkh 

Merits of objective observation method is . 

(a) Objectivity     (b)To study more than one person at a time 

(c) Wider scope of application  (d) All the above 

 
102- Luk;q dksf”kdk ds izdkj gS \ 

(a) Kkuokgh Luk;qdks"k      (b) xfrokgh Luk;qdks"k  

  (c) Lkgp;Z Luk;qdks"k      (d) mijksDr lHkh 

Types of neuron is. 

(a) Sensory neuron      (b) motor neuron 

(c) Associative neuron     (d) All the above 
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103- fdlh oLrq dk vFkZiw.kZ Kku D;k dgykrk gS \ 
(a) laosnuk       (b) izR;{khdj.k 

   (c) f”k{k.k        (d) izsj.kk 

Meaningful knowledge of any object is called. 

(a) Sensation       (b) Perception   

(c) Learning       (d) Motivation  

 
104- mifLFkr mrstukvksa dk rkRdkfyd Kku gS\ 

(a) izR;{khdj.k dh fo”ks"krk     (b) vo/kku ds izdkj 

  (c) Luk;q dh tfVyrk      (d) mijksDr es dksbZ ugha 

The immediate knowledge of present stimuli is. 

(a) Characteristics of perception    (b) Type of alternation 

(c) Complexity of  nervous system    (d) None of above 

 
105- izR;{khdj.k dk xsLVkYVoknh ǹf"Vdks.k dk vk/kkj gS\ 

(a) foHksnhdj.k       (b) laxBu  

   (c) lkekU;hdj.k       (d izR;{khd`r vkd`fr 

Base of the Gestaltist’s approach to perception is.  

(a) Discrimination      (b) Organization 

(c) Generalization      (d) Perceived figure 

 
106- Hkze ds fdrus izdkj gS\ 

   (a) 5       (b) 3 

  (c) 2       (d) 6 

How many types of illusion are there ? 

  (a) 5       (b) 3  

(c) 2       (d) 6   

 
107- jsy dh iVfj;k¡ nwj ls vkil esa feyrh gqbZ fn[kkbZ nsrh gS] bls dgrs gS& 

 ¼a½ vLFkk;h Hkze      ¼b½ LFkk;h Hkze 

 ¼c½ izR;f{kr Hkze      ¼d½ mijksDr lHkh 

 Railway tracks seem to appear very close if we see from distance, this is called. 

(a) Temporary illusion     (b) permanent illusion 

(c) Perceived illusion      (d) All the above 

 
108- Hkw[k] I;kl vkSj ;kSu gS& 

 ¼aa½ lekftd izsjd      ¼b½ tSfod izsjd 

 ¼c½ lkaLd`frd izsjd      ¼d½ “kkjhfjd izsjd 

 Hunger ,thirst and sex are.. 

(a) Social motive      (b) Biological motive 

(c) Cultural motive     (d) Physical motive 
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109- izsj.kkRed pdz es fuEufyf[kr dzeks esa dkSu lgh gS 

 ¼aa½ vko”;drk& iz.kksnu &izksRlkgu    ¼b½ vko”;drk &izksRlkgu &iz.kksnu 

 ¼c½ iz.kksnu& vko”;drk &izksRlkgu    ¼d½ izksRlkgu &vko”;drk &iz.kksnu 

 In motivational cycle which of the following sequences is correct. 

(a) Need –drive-incentive    (b) Need-incentive-drive 

(c) Drive-need-incentive    (d) Incentive-need-drive 

 
110- okVlu ds vuqlkj Hk; ] dzks/k rFkk izse gS%  

 ¼aa½ f}fr;d laosx      ¼b½ ewy laosx 

 ¼c½ laosfxd foek      ¼d½ izkFkfed laosx 

 According to Watson fear , anger and love is. 

(a) Secondary emotion    (b) Basic emotion 

(c) Emotional dimension    (d) Primary emotion  

 
111- cq++f) dk f}rRo fl)kar LFkkfir fd;k x;k gS\ 

 ¼aa½ chus ds }kjk      ¼b½ fi;kts ds }kjk 

 ¼c½ Lih;jeSu ds }kjk     ¼d½ cSjksu ds }kjk 

  

Two factor theory of intelligence is established by. 

(a) Benet       (b) piaget 

(c) Spearman      (d) Baron 

 
112- FkkWuZMkbd us f”k{k.k ds fu;e cuk, gS%& 

 ¼aa½ rRijrk dk fu;e      ¼b½ vH;kl dk fu;e 

 ¼c½ izHkko dk fu;e      ¼d½ mijkDr LkHkh 

 Law of learning given by Thorndike is. 

(a) Law of readiness     (b) Law of exercise 

(c) Law of effect     (d) All the above 

 
113- laca/ku fl)kar LFkkfir fd;k x;k \ 

 ¼aa½ iSoyo ds }kjk      ¼b½ FkkuZMkbd ds }kjk 

 ¼c½ a rFkk b nksuks      ¼d½ dksgyj ds }kjk 

 Theory of connectionism is stablished by. 

(a) Pavlov       (b) Thorndike 

(c) a and b both      (d) Kohlar 

 
114- iSoyo us viuk iz;ksx fd;k \ 

 ¼aa½ pwgs ij       ¼b½ fcYyh ij 

 ¼c½ dqrs ij       ¼d½ canj ij 

 Experiments of Pavlov is based on 

(a) Rat        (b) Cat 

(c) Dog       (d) Monkey 
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115- FkkWuZMkbd ds laca/k fl)kar dk nwljk uke gS%& 

 ¼aa½ vuqdwyu fl)kar     ¼b½ lk/kukRed vuqdwyu  

 ¼c½ iz;Ru&Hkwy fl)kar     ¼d½ buesa ls dksbZ ugha 

 Second name of Thorndike’s connectionism is 

(a) Conditioning  theory    (b) Instrumental conditioning 

(c) Trial and error theory    (d) None of above 

 
116- xsLVkYVokn ds tud gS%& 

 ¼aa½ bfcaxgkWl      ¼b½ feyj 

 ¼c½ iSoyo        ¼d½ onkZbej 

 Founder of Gestaltism is. 

(a) Ebbinghause      (b) Miller 

(c) Pavlov      (d) Wertheimer 

 
117- dksgyj us vius iz;ksx esa ftl cuekuq"k ij iz;ksx fd;k mldk uke Fkk\ 

 ¼aa½ lqyrku       ¼b½ ckn”kkg 

 ¼c½ tsfuo        ¼d½ nqxkZ 

 The name of the chimpanzee on which Kohlar’s experiment was based. 

(a) Sultan       (b) Badshah 

(c) Jeniv       (d) Durga 

 
118- ^izcyu ls f”k{k.k esa of̀) gksrh gŜ  ;g dFku gS\ 

 ¼aa½ fgyxkMZ        ¼b½ fLduj dk 

 ¼c½ feyj        ¼d½ dks¶dk 

 “There is an increase in learning by reinforcement.” This statement was given by- 

(a) Hilgard       (b) Skinner 

(b) Millor       (d) Koffka 

 
119- Lèfr esa fdruh izfdz;k,¡ gS\ 

 ¼aa½ 3       ¼b½ 4 

 ¼c½ 2       ¼d½ 5 

 How many processes are involved in memory. 

(a) 3       (b) 4 

(c) 2       (d) 5 

 
120- Lej.k fdu voLFkkvksa ls gksdj xqtjrk gS\ 

 ¼aa½ ladsru       ¼b½ lap;u 

 ¼c½ iqu%izkfIr       ¼d½ mijksDr lHkh 

 The process of remembering passes through how many stages? 

(a) Encoding       (b) Storage 

(c) Retrieval      (d) All the above 
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121- Hkwyus dk eq[; dkj.k gS\ 

 ¼aa½ nks f”k{k.k ds chp dk varjky    ¼b½ lh[kus dh dq”kyrk 

 ¼c½ izR;kogku      ¼d½ lh[kus dk Lrj 

Main cause of forgetting is . 

(a) Interval between two learning   (b) Efficiency of learning 

(c) Recall       (d) Level of learning 

 
122- Lej.k rFkk foLej.k esa egRoiw.kZ Hkwfedk fuHkkrs gSa \ 

 ¼aa½ ekufld izfdz;k,¡     ¼b½ chekjh 

 ¼c½ Lèfr fpUg      ¼d½ laosxkRed ifjfLFkfr;k¡ 

 Which one playes impotant role in remembering and forgetting . 

(a) Mental process     (b) Illness 

(c) Memory trace     (d) Emotional situation 

 
123- O;fDr dks Js"B izk.kh cukrk gS \ 

 ¼aa½ cqf) vkSj fparu      ¼b½ fujh{k.k djus 

 ¼c½ vfHk:fp      ¼d½ iwoZ vuqHko 

 Factor making human being an excellent organism is-  

(a) Intelligence and thinking     (b) Observation 

(c) Interest       (d) Past experience 

 
124- mÌhid D;k gS \ 

 ¼aa½ ftls ekik tkrk gS     ¼b½ tks vewrZ gS 

 ¼c½ ftldk izHkko ns[krs gS     ¼d½ tks vuqfdz;k mRiUu djkrk gS 

 What is stimulus? 

(a) Which is measured     (b) which is abstract 

(c) Effects of which is observed   (d) which evokes response 

 
125- foKku dk lqHkkjEHk gksrk gS\ 

 ¼aa½ lk{kkRdkj ls       ¼b½ vkRek ls  

 ¼c½ ifjoR;Z ls       ¼d½ izs{k.k ls 

 Science begins with. 

(a) Interview       (b) Soul 

(c) Variables      (d) Observation 

 
126- fu;af=r ifjfLFkfr;ksa esa v/;;u dks dgk tkrk gS \ 

 ¼aa½ ekiu        ¼b½ isz{k.k  

 ¼c½ ijh{k.k       ¼d½ iz;ksx 

A study in controlled condition is called. 

(a) Measurement      (b) Observation 

(c) Testing       (d) Experiment 
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127- raf=dkra= dh ekSfyd bdkbZ dks dgrs gS \ 

 ¼aa½ laxzkgd       ¼b½ “kkf[kdk 

 ¼c½ Luk;q       ¼d½ lq"kqEuk 

 The basic unit of nervous system is. 

(a) Receptor       (b) Dendrites 

(c) Neuron      (d) Spinal cord 

 
128- laosnh ,oa Iks”kh; Luk;q dks tksM+usokyk Luk;q gS \ 

 ¼aa½ ,DtkWu       ¼b½ laf/kLFky 

 ¼c½ dksf”kdk “kjhj      ¼d½ lkgp;Z raf=dk 

 The neuron connecting the sensory and motor neurous is called. 

(a) Axon        (b) Synapse  

(c) Cell body       (d) Associative neuron 

 
129- ,d U;qjksu ls nwljs U;wjksu ds chp ds LFkku dks dgrs gS \ 

 ¼aa½ “kkf[kdk       ¼b½ laf/k LFky 

 ¼c½ FkSyel       ¼d½ xzafFk;k¡ 

 The place in between one neuron to another neuron in called. 

(a) Dendrites       (b) Synapse 

(c) Thalamus       (d) Glands  

 
130- izfrorZ fdz;k dk laiknu djrk gS \ 

 ¼aa½ gkbiksFkSyel      ¼b½ lq"kqEuk “kh"kZ 

 ¼c½ lq"kqEuk       ¼d½ Lok;r raf=dk ra= 

 Reflex action is performed by. 

(a) Hypothalamus      (b) Modula  

(c) Spinal cord       (d) Autonomous nervous  

system 
 

131- “kkjhfjd mtkZ dh cpr djusokys raf=dk ra= dk uke gS \ 

 ¼aa½ Lok;r raf=dk ra=     ¼b½ ifj/kh; raf=dk ra= 

 ¼c½ lgkuqdaih raf=dk ra=     ¼d½ izHkkod ra= 

 Name of nervous system which saves bodily energy. 

(a) Autonomic nervous system   (b) Peripheral nervous system 

(c) Parasympathetic nervous system   (d) Effectors system  

 
132- ekLVj xzafFk dk uke gS \ 

 ¼aa½ Fkk;jk;M      ¼b½ vXU;k”k; 

 ¼c½ ihfu;y       ¼d½ ih;q"k 

 The name of Master Gland is. 

(a) Thyroid       (b) Pancreas 

(c) Pineal       (d) Pituitary 
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133- lsrq efLr"d ds fdl [k.M dk Hkkx gS \ 

 ¼aa½ vxz efLr"d       ¼b½ Ik”p efLr"d  

 ¼c½ e/; efLr"d       ¼d½ buesa ls dkbZ ugha 

 Pons belongs to which part of the brain. 

(a) Fore brain        (b) Hind brain  

(c) Mid brain       (d) None of these 

 
134- laosxksa ij fu;a=.k LFkkfir djrk gS \ 

 ¼aa½ miFkSyel       ¼b½ FkSyel 

 ¼c½ oYdqV       ¼d½ jsfVdqyj ra= 

 Emotions are controlled by 

(a) Hypothalamus      (b) Thalamus 

(c) Cortex       (d) Reticular system 

 
135- isz{k.k D;k gS \ 

 ¼aa½ iznr fo”ys"k.k       ¼b½ izkd`frd fujh{k.k  

 ¼c½ vkeus lkeus dk okrkZyki    ¼d½ laizs"k.k 

 What is Observation? 

(a) Data analysis     (b) Natural observation  

(c) Face to face conversation    (d) communication  

 
 

136- fdlh oLrq ds ckjs esa lk/kkj.k vuqHkwfr dks dgk tkrk gS\ 

 ¼aa½ vo/kku       ¼b½ izfrek 

 ¼c½ laosnuk       ¼d½ izR;{khdj.k 

 The simple experience about on object is called. 

(a) Attention       (b) Image 

(c) Sensation       (d) Perception 

 
137- laosnukvksa dks lkFkZd :i nsuk dgk tkrk gS\ 

 ¼aa½ izfrek        ¼b½ euksoSKkfud izdze  

 ¼c½ izR;{khdj.k       ¼d½ buesa ls dksbZ ugha 

 Making the sensation meaningful is called. 

(a) Image       (b) Psychological process 

(c) Perception      (d) None of these 

 
138- fdlh oLrq dk izR;{khdj.k lexz :i ls fd;k tkrk gS\ bls fdlus dgk& 

 ¼aa½ vkWlxqM       ¼b½ fQ”kj  

 ¼c½ lajpukoknh      ¼d½ xsLVkYVoknh 

 An object is perceived as a whole; who said it. 

(a) Osgood       (b) Fisher 

(c) Structuralists     (d) Gestaltists 
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139- vkd`frjs[k miyC/k gksrs gS] fdlds fy,\ 

 ¼aa½ vkd`fr i"̀BHkwfe      ¼b½ laosnuk 

 ¼c½ vkd`fr       ¼d½ i"̀BHkwfe 

 Contours are available for ? 

(a) Figure background     (b) Sensation 

(c) Figure       (d) Background 

 
140- ^xeyk psgjk* fp= dh jpuk dh& 

 ¼aa½ gsYegkWt      ¼b½ dks¶dk 

 ¼c½ xzsxkWjh       ¼d½ :chu 

 The vase face figure was constructed by 

 (a)  Helmholtz      (b) Kofka 

 (c) Gregory      (d) Rubin 

 
141- fdlds }kjk izR;{khdj.k esa lkl &cgw dk fp= cuk;k x;k\ 

 ¼aa½ cksfjax       ¼b½ yhij 

 ¼c½ eu       ¼d½ vkWlxqM 

In perception the mother-in-law and tribe figure was drawn by 

 (a) Boring      (b) Leeper 

 (c) Munn       (d) Osgood  

 
142- laosnuk,¡ tks xyr izR;{khdj.k dk izknqHkkZo djrh gS mUgsa dgk tkrk gS\ 

 ¼aa½ Hkze       ¼b½ foHkze 

 ¼c½ vkd`fr i"̀BHkwfe mRdze.k    ¼d½ lekuqHkwfr 

 Sensation that give rise to misperceptions are called. 

 (a) Illusions      (b) Hallucination  

 (c) figure ground reversal    (d) Empathy 
 
143- fLFkj oLrqvksa ls xfr izR;{khdj.k dgykrk gS \ 

 ¼aa½ okLrfod xfr      ¼b½ foHkze 

 ¼c½ QkbZ xfr      ¼d½ mijksDr lHkh 

 Perception of movement when the object is stationary is called. 

 (a) Real movement      (b) Hallcination 

 (c) Phi movement     (d) All the above 

 
144- foyksi fdldk ifj.kke gS \ 

 ¼aa½ vojks/k        ¼b½ izcyu dk vHkko 

 ¼c½ ruko        ¼d½ buesa ls dksbZ ugha 

 Extinction is the result of. 

 (a) Inhibition       (b) Lack of reinforcement 

 (c) Tension       (d) None of these 
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145- O;ogkj esa minzo ;k rwQku dks dgk tkrk gS \ 

 ¼aa½ ruko        ¼b½ fpark 

 ¼c½ laosx        ¼d½ izsj.kk 

 Stir in behavior is called. 

 (a) Tension      (b) Anxity 

 (c) Emotion       (d) Motivation 

 
146- laosxkuqHkwfr esa dkSu ra= vf/kd lfdz; gksrk gS \ 

 ¼aa½ “kkjhfjd raf=dk ra=     ¼b½ vuqdaih raf=dk ra= 

 ¼c½ dkWVZsDl       ¼d½ lgvuqdaih raf=dk ra= 

Which system is more active in experiencing emotion ? 

 (a) somatic nervous system     (b)Sympathetic nervous system 

 (c) Cortex        (d) parasympathetic 

  
147- laosx dh vuwHkwfr ds igys laosxkRed O;ogkj gksrk gS&;g fdlus dgk\ 

 ¼aa½ lSLVj &flaxj      ¼b½ dSuu&ckMZ 

 ¼c½ tsEl &yk.ts      ¼d½ okVlu 

 Emotional behavior occurs before experiencing emotions –who said it ? 

 (a) Schechter-singer      (b) Cannon-Bard 

 (c) James-Lange      (d) Watson 

 
148- fuEufyf[kr es ls dkSu vfHkizsfjr O;ogkj ds y{k.k gS& 

 ¼aa½ ân; xfr es ifjorZu     ¼b½ “olu ifjorZu  
 ¼c½ O;ogkj esa fn”kk      ¼d½ izcyu 

 Which of the following is a symptom of motivated behavior . 

 (a) Changes  in heart beat    (b) Respiratory changes 

 (c) Direction in behavior     (d) Reinforcement 

 
149- ifjos”k dh oLrq ftls izk.kh izkIr djus dk iz;kl djrk gS dgh tkrh gS& 

 ¼aa½ izcyu        ¼b½ iszjd 

 ¼c½ mÌhid       ¼d½ izyksHku 

 The object in the environment which an organism tries to attain is called ? 

 (a) Reinforcement     (b) Motive 

 (c) Stimulus       (d) Incentive 

 
150- ^^cqf) ijh{k.kksa dks gy djus dh ;ksX;rk cqfz) gS** ;g fdlus dgk\ 

 ¼aa½ Vjeu        ¼b½ cksfjax 

 ¼c½ jhM       ¼d½ os”yj 

 The capacity to do well in intelligence test is intelligence”. This is said by- 

 (a) Terman      (b) Boring 

 (c) Reid       (d) Wechsler 
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151- O;ogkfjd cqf) dks dgk tkrk gSA 

 ¼aa½ ewrZ cqf)      ¼b½ vewrZ cqf) 

 ¼c½ laKkukRed ;ksX;rk      ¼d½ lekftd cqf) 

 The practical intelligence is called. 

 (a) Concrete intelligence    (b) Abstract intelligence 

 (c) Cognitive ability     (d) Social intelligence 

 
152- lkekU; cqf) dk izlkj D;k gS \ 

 ¼aa½ 110&119      ¼b½ 70&79 

 ¼c½ 80&89       ¼d½ 90&109 

 What is the range of normal intelligence? 

 (a) 110-119      (b) 70-79 

 (c) 80-89       (d) 90-109 

 
153- 70 ls de cqf) ykfC/k ladsr gS& 

 ¼aa½ ekufld vlkekU;rk     ¼b½ ekufld lkekU;rk 

 ¼c½ lhekar cqf)      ¼d½ ekufld eanrk 

 The IQ below 70 is an indication of – 

 (a) Mental abnormality    (b) Mental normality 

 (c) Borderline intelligence      (d) Mental retardation 

 
154- ^ijlksuk “kCn lacaf/kr gS& 

 ¼aa½ izk.kh ls       ¼b½ Kku ls 

 ¼c½ ;ksX;rk ls       ¼d½ O;fDrRo ls 

 The word “persona” related to. 

 (a) Organism      (b) Knowledge 

 (c) Ability      (d) Personality 

 
155- ,d ukVk] eksVk] pkSM+k lhuk rFkk vkjkeilUn O;fDr dgk tk ldrk gS\ 

 ¼aa½ yEcdk;      ¼b½ lqMkSydk; 

 ¼c½ xksydk;      ¼d½ fefJrdk; 

 A short statured, fatty, having wide chest and relaxed person may be called as. 

 (a) Asthonic      (b) Athletic 

 (c) Pyknic      (d) Dysplastic 

 
156- vUreqZ[krk &cfgeqZ[krk oxhZdj.k izLrqr fd;k x;k\ 

 ¼aa½ Qzke       ¼b½ vUuk Qzk;M 

 ¼c½ ;qax       ¼d½ vkykiksVZ 

 The introversion – extraversion classification was proposed by. 

 (a) Fromm      (b) Anna Freud 

 (c) Jung       (d) Allport 
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157- jks”kkZ us ,d ijh{k.k dh jpuk djds bfrgkl jp fn;k A og D;k gS\ 

 ¼aa½ L;kgh /kCck ijh{k.k      ¼b½ okD; iwfrZ ijh{k.k 

 ¼c½ fo"k; vkRecks/ku ijh{k.k     ¼d½ ewY;kadu ekiuh 

 Rorschach created history by constructing a test. what is that? 

 (a) Ink  Blot test     (b) Sentence Completion test 

 (c) Thematic Apperception test   (d) Rating Scales 

 
158- fparu D;k gS\ 

 ¼aa½ izrhdks dk iz;ksx      ¼b½ Hkk"kk dk iz;ksx 

 ¼c½ izR;f{kd izfdz;k      ¼d½ laizR;; vf/kxe 

 What is thinking? 

 (a) Use of symbols     (b)  Use of language 

 (c) Perceptual process     (d) Concept learning 

 
159- fparu izkjEHk gksus ds fy, D;k vko”;d gS \ 

 ¼aa½ iwokZuqHko       ¼b½ Hkk"kk 

 ¼c½ rdZ       ¼d½ leL;k 

 What is essential to start the process of thinking? 

 (a) Past experience      (b) Language 

 (c) Reasoning      (d) Problem 

 
160- fparu es Hkk"kk dh Hkwfedk ij cy nsusokyk fl)kar dgk tkrk gS\ 

 ¼aa½ ifj/kh; fl)kar      ¼b½ dsUnzh; fl)kar  

 ¼c½ euksHkkf"kd fl)kar      ¼d½ Lojra= fl)kar 

 Theory emphasizing the role of language in thinking is called . 

 (a) Peripheral theory      (b) Central theory 

 (c) Psycholinguistics theory    (d) Larynx theory  
 

161- fuEufyf[kr es ls fdls euksfoKku ds fo"k;&oLrq esa “kkfey fd;k tk ldrk gS\ 

 ¼aa½ euksfoKku dh iqLrdksa dk v/;;u djuk    

¼b½ euksoSKkfud midjk.kksa dk fp= cukuk 

 ¼c½ izk.kh ds O;ogkj ,oa laKkukRed izfd;kvkas dk v/;;u  

¼d½ euksoSKkfudksa ls fdlh fo"k; ij fopkj&foe”k Z djuk  

 Which of the following can  be added in scope of psychology. 

 (a) To study the book of psychology      

(b) To make picture of psychological apparatus  

 (c) To study the behaviour and cognitive process of organism  

(d) To discus with psychologists on any matter 

 
162- fuEukafdr es ls dkSu euksoSKkfudksa ds “kSf{kd {ks= esa ugha gS \ 

 ¼aa½ iz;ksxkRed euksfoKku     ¼b½ O;fDrRo euksfoKku 

 ¼c½ laKkukRed euksfoKku     ¼d½ ijke”kZ euksfoKku 

 Which of the following is not an educational field of psychology? 

 (a) Experimental psychology    (b) Personality Psychology 

 (c) Cognitive  Psychology    (d) Counselling psychology 
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163- fdl {ks= esa euksoSKkfudksa dh la[;k lcls vf/kd gS \ 

 ¼aa½ f”k{kk euksfoKku      ¼b½ lekt euksfoKku  

 ¼c½ uSnkfud euksfoKku      ¼d½ ijke”kZ  euksfoKku 

 In which field the number of Psychologists is maximum? 

 (a) Educational Psychology    (b) Social Psychology 

 (c) Clinical Psychology    (d) Counselling Psychology 

 
164- ftl izs{k.k esa izs{kd O;fDr ds O;ogkj dk v/;;u nwj ls gh djrk gS] mls dgk tkrk gS& 

 ¼aa½ LoHkkfod iazs{k.k      ¼b½ lgHkkxh izs{k.k 

 ¼c½ vlgHkkxh izs{k.k      ¼d½ fu;af=r izs{k.k 

 The observation in which observer studies the behavior of a person with distance ,  

is called. 

 (a) Naturalistic observation    (b) Participant observation 

 (c) Non-participant observation   (d) Controlled observation 

 
165- lkgp;Z U;wjksu dgk¡ ik, tkrs gS\ 

 ¼aa½ iSj esa        ¼b½ gkFk esa 

 ¼c½ lq"kqEuk esa      ¼d½ lq"kqEuk rFkk efLr"d nksuks esa 

 Where does associative neuron found ? 

 (a) In Leg      (b) In Hand 

 (c) In spinal cord     (d)In  spinal cord and brain both 

  
166- ykjlzkoh vuqca/ku ij fdlus iz;ksx fd;k\ 

 ¼aa½ Ldhuj       ¼b½ iSoyo 

 ¼c½ FkkWuZMkbd      ¼d½ dkYgj 

Who experimented on salivary conditioning? 

 (a) Skinner      (b) Pavlov 

 (c) Thorndike      (d) Kohlar 
 
167- dksgyj us f”k{k.k dk tks fl)kar fodflr fd;k mls dgrs gS\ 

 ¼aa½ laca/kokn fl)kar     ¼b½ xsLVkYV fl)kar 

 ¼c½ fdz;k izlwr vuqca/ku fl)kar    ¼d½ lw> dk fl)kar 

 Learning theory developed by Kohler is called.? 

 (a) Connectionism     (b) Gestalt theory 

 (c) Operant conditioning     (d) Insight theory 

 
168- iz;ksxkRed fof/k esa lcls cM+h leL;k gS\ 

 ¼aa½ vLoHkkfodrk      ¼b½ izfrp;u i{kikr 

 ¼c½ iz;ksT; i{kikr      ¼d½ iz;ksxdrkZ i{kikr 

 Major problem in experimental method is? 

 (a) Unnaturalism     (b) Sampling bias 

 (c) Subject bias      (d) Experimenter bias 
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169- lgHkkxh izs{k.k dk lcls cM+k nks"k gS \ 

 ¼aa½ fujh{k.k dh dfBukbZ     ¼b½ yphykiu dh deh 

 ¼c½ lgtrk dh deh     ¼d½ O;fDrxr i{kikr 

 The major demerit of participant observation is. 

 (a) Problem in observation    (b) Lack of flexibility 

 (c) Lack of comfort     (d) Personal bias 

 
170- fuEufyf[kr esa ls dkSu Luk;q dksf”kdk dk Hkkx ugha gS\ 

 ¼aa½ dksf”kdk “kjhj      ¼b½ f”k[kk rarq 

 ¼c½ dks’k nzO;      ¼d½ eq[; rarq 

 Which of the following is not a part of nerve cell? 

 (a) Cell Body      (b) Dendrites 

 (c) Cytoplasm      (d) Axon 

 
171- fuEufyf[kr esa ls dkSu dsUnzh; Luk;q ra= dk fgLlk ugha gS \ 

 ¼aa½ lq"kqEuk       ¼b½ esMqyk 

 ¼c½ gkbiksFkSysel      ¼d½ lgkuqHkwfrd ra= 

 Which of the following is not a part of central Nervous system? 

 (a Spinal cord      (b) Medulla 

 (c) Hypothalamus      (d) Sympathetic system 

 
172- dkSu izR;{khdj.k dk O;fDrxr dkjd gS\ 

 ¼aa½ lkekftd ewY;      ¼b½ O;fDr dh vko”;drk  

 ¼c½ jhfr&fjokt      ¼d½ laLd`fr 

 Which one is personal factor of perception? 

 (a) Social value      (b) Needs of person  

 (c) Rituals      (d) Culture 

 
173- O;ogkjoknh fl)kar ds fodkl esa fdl O;fDr us vf/kd ;ksxnku fn;k \ 

 ¼aa½ iSoyo       ¼b½ gy 

 ¼c½ okVlu       ¼d½ FkkWuZMkbd 

 Who contributed maximum in the development of behavioristic theory   

 (a) Pavlov      (b) Hull 

 (c) Watson      (d) Thorndike 

 
174- fuEufyf[kr esa ls dkSu tSfod izsjd gS\ 

 ¼aa½ miyfC/k izsjd      ¼b½ laca/ku izsjd  

 ¼c½ lrk izsjd      ¼d½ uhan  iszjd 

 Which of the following is biological motive? 

 (a) Achievement motive    (b) Affiliation motive 

 (c) Power motive     (d) Sleep motive 
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175- fuEufyf[kr esa ls dkSu dFku vlR; gS\ 

 ¼aa½ izk.kh ds lHkh O;ogkj izsj.kkRed gksrs gS   ¼b½ miyfC/k izsjd ,d lekftd  

izsjd gS 

 ¼c½ ihM+k tSfod izsjd gS     ¼d½ vkde.k”khyrk lekftd izsjd gS 

 Which of the following is false? 

 (a) All the behavior of organism is motivational  

(b) Achievement motive is a social motive 

 (c) Pain is a biogenic motive     

(d) Aggressiveness is social motive 

 
176- laosx fdl rjg dh ekufld izfdz;k gS\ 

 ¼aa½ HkkokRed      ¼b½ laKkukRed 

 ¼c½ fdz;kRed      ¼d½ ;s lHkh 

 Which type of mental process is emotion? 

 (a) Feeling      (b) Cognitive 

 (c) Functional      (d) All of these 

 
177- euksoSKkfudksa ds vuqlkj O;fDrRo ,d& 

 ¼aa½ ekufld jpuk      ¼b½ LoHkko 

 ¼c½ uSfrdrk       ¼d½ tfVy izR;; 

 According to psychologists personality is a- 

 (a) Mental structure      (b) Temperament 

 (c) Morality      (d) Complex concept  
 

178- ilZukfyVh “kCn dh mRifr ySfVu “kCn ls gqbZ gS ftls dgrs gS\ 

 ¼aa½ “kkjhfjd izrhfr      ¼b½ ijlksuk    

 ¼c½ lqUnj “kkjhfjd jpuk     ¼d½ vkarfjd jpuk 

 The origin of word personality is from Latin word called. 

 (a) Physical appearance     (b) Persona  

 (c) Attractive physical structure   (d) Internal structure 

 
179- ijlksuk dk ySfVu vFkZ gS\ 

 ¼aa½ eq[kkoj.k      ¼b½ vfHku;  

 ¼c½ vfHkusrk       ¼d½ buesa ls dksbZ ugha 

 The Latin meaning of Persona is. 

 (a) Mask       (b) Acting 

 (c) Actor       (d) None of these 

 
180- O;fDrRo dk fo”ks"kd fl)kar fdlds }kjk fn;k x;k gS\ 

 ¼aa½ vyiksVZ] ysfou       ¼b½ dSVsy] vkbftad 

 ¼c½  a  vkSj b nksuks     ¼d½ pSifyu 

 Trait theory of personality is given by. 

 (a) Allport, Levin     (b) Cattell, Eysenck 

 (c) a and b both      (d) Chaplin 
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181- fo”ks"kd fl)kar ds vuqlkj & 

 ¼aa½ O;fDrRo dh jpuk fHkUu&fHkUu “khyxq.kksa ls gqbZ gSA 

 ¼b½ O;fDrRo ds ekSfyd “khyxq.k cqf) rFkk lekftdrk gS 

 ¼c½ bekunkjh vkSj vkf/kiR; O;fDrRo ds “khyxq.k gS 

 ¼d½ mijksDr lHkh 

 According to trait theory 

 (a) composition of personality is from different characteristics 

 (b) Personality’s basic characteristics is intelligence and sociality 

 (c) Honesty and dominance are traits of personality 

 (d) All the above 

 
182- fgiksdzsV~l] ;qax] dzs”ej rFkk “kSYMu us tks O;fDrRo fl)kar fn;k mls dgrs gS\ 

 ¼aa½ fo”ks"kd fl)kar      ¼b½ izdkj fl)kar 

 ¼c½ mfÌiu&izfrfdz;k fl)kar    ¼d½ fo”ys"k.kkRed fl)kar 

 The personality theory given by Hippocrates, Jung, Kretschmer and Sheldon is  

called. 

 (a) Trait theory      (b) Type theory 

 (c) Stimullus-response theory   (d) Analytical theory 

 
183- dzs”ej ds vuqlkj O;fDrRo ds izdkj gS& 

 ¼aa½ LFkwydk;      ¼b½ d`’kdk; 

 ¼c½ iq"Vdk;       ¼d½ mijksDr lHkh 

 According to Kretschmer type of personality is; 

 (a) Pyknic      (b) Asthenic 

 (c) Athletic      (d) All of these. 
 

184- xksykd`fr] vk;rkd`fr rFkk yEckd̀fr ds :i esa O;fDrRo dh O;k[;k dh xbZ\ 

 ¼aa½ fgiksdzsV~l      ¼b½ ;qax 

 ¼c½ ysfou       ¼d½ “ksYMu 

The decription of personality in the form of –Endomorphy, Mesomorphy and 

Ectomorphy is given by. 

(a) Hippocrates      (b) Yung 

(c) Lewin       (d) Sheldon 

 
185- ladksph] yTtkyq rFkk vkRedsfUnzr xq.kksa okys O;fDr dgykrs gSa\ 

 ¼aa½ var%eq[kh      ¼b½ cfgZeq[kh 

 ¼c½ vk”kkoknh      ¼d½ xksykd`frd 

The person with traits of hesitation, shyness and self-centred is called. 

 (a) Introvert       (b) Extrovert 

 (c) Hopeful      (d) Endomorphy 
 

186- lcls izpfyr O;fDrRo dk izdkj gS& 

 ¼aa½ vk;rkd`fr&yEckd`fr     ¼b½ vf/kiR;&vf/kurk 

 ¼c½ vareqZ[kh&cfgZeq[kh     ¼d½ mijksDr esa dksbZ ugha 

 The most famous type of personality is. 

 (a) Mesomorphy-Ectomorphy   (b) Dominance-submission 

 (c) Introvert-Extrovert     (d) None of these 



32 

 

187- O;fDrRo ds fu/kkZjd gS& 

 ¼aa½ tSfod       ¼b½ lkekftd 

 ¼c½ lkaLd`frd      ¼d½ mijksDr lHkh 

 Determinants of personality is. 

 (a) Biological      (b) Social 

 (c) Cultural      (d) All the above 

 

  188- O;fDrRo 'kCn dh mRifr fdl 'kCn ls gqbZ gS\ 

 (a)  ijlu           (b) ijeh'ku    

 (c)  ijlksuk            (d) ijkLr 

 The word personality is derieved from which word: 

 (a)  Person          (b) Permission  

 (c)  Persona           (d) Parasth 

 

 189- ijlksuk 'kCn fdl Hkk"kk ls fy;k x;k gS\ 

 (a)  vaxzsth           (b) fgUnh     

 (c)  xzhd           (d)   ySfVu  

 The word persona is taken from which language? 

 (a)  English          (b) Hindi    

 (c)  Greek           (d) Latin 

 

 190- ijlksuk 'kCn dk D;k vFkZ gS\ 

 (a)  pfj=           (b)    Kku'kfDr   

 (c)   eq[kkSVk                 (d)  vknr 

 What is the meaning of the word persona ? 

 (a)  Character         (b) Intellect   

 (c)  Mask           (d) Habit 

 

 191- vkWyiksVZ us O;fDrRo dks ifjHkkf"kr fdl o"kZ fd;k \ 

 (a)     1955           (b)  1946    

 (c)  1937           (d) 1961 

 In which year Allport gave the definition of personality? 

 (a)  1955           (b) 1946    

 (c)  1937           (d) 1961 

 

 192- cPps esa ^^Lo** dk fodkl fdl vk;q esa gksus yxrk gS\ 

 (a)  1 o"kZ esa           (b)   1 o"kZ 8 eghuk esa        

 (c)  yxHkx 2 o"kZ esa         (d)  6 eghuk 

 At which age "self" develops in a child ? 

 (a)  1 Year          (b) 1 year & 8 months    

 (c)  Approx two years       (d) Six months 
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194- Lo dh ladYiuk dks fdl euksoSKkfud us lcls vf/kd egRoiw.kZ ekuk gS\ 

 (a) Qk;M            (b) dksLVk ,oa eSDds   

 (c) jkstlZ            (d) vkyiksVZ 

 Which psychologist gave more importance to the concept of self? 

 (a)  Freud           (b) Costa & Mccrae  

 (c)  Rogers          (d) Allport 

 

194- euksoSKkfudksa us Lo ds fy, fdrus i{kksa dh ppkZ dh gS\ 

 (aa) 7             (b)   6    
 (c)  4             (d)  8 

 How many aspects of "Self" has been described by psychologist? 

 (a)  7            (b) 6      

 (c)  4            (d) 8 

 

195- buesa ls dkSu O;fDrRo fuekZ.k ds tSfod fu/kkZjd ugha gS\ 

(a) 'kkjhfjd lajpuk         (b)  cqf)   

(c) vUr% lzkoh xafFk;k¡         (d) ifjokj 

 Among the following options which one is not the biological determinant of  

 personality development 

 (a)  Physical construction      (b) Intelligence  

 (c)  Endocrine glands       (d) Family 

 

 

196- Øs'ej ds vuqlj 'kkjhfjd cukoV ds vk/kkj ij O;fDro dks fdrus Hkkxksa esa ck¡Vk x;k gS\ 

(a)   4      (b)    3    (c) 3  (d)     2 

 According to kretschmer in how many types personality has been divided on the 

basis of physical construction? 

 (a)  4       (b)   3    (c) 2  (d) 5 

 

197- 'ksYMu ds vuqlkj 'kkjhfjd cukoV dk vk/kkj buesa ls dkSu ugha gS\ 

 (a) LFkwydk;           (b) xksykdkj    

 (c) vk;rkdkj           (d) yackdkj 

 According to sheldon which option is not the basis of physical construction? 

 (a)  Pyknic Type  (b) Round  (c) Rectangular  (d) Elongated 

 

198- fdl o"kZ 'ksYMu us viuk lkseSVksVkbi fl|kar fn;k \ 

 (a) 1930     (b) 1938   (c) 1940   (d) 1951 

 In which year sheldon gave his somatotype theory? 
 (a)  1930    (b) 1938  (c) 1940  (d) 1951 
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199- fdl o"kZ vkyiksVZ us viuh O;fDrRo dh ifjHkk"kk ds vafre ik¡p 'kCnksa unique  

 adjustment to his environment" dh txg "Characteristic behaviour and   

 thought" dj fn;k\ 

 (a) 1960     (b) 1961   (c) 1962  (d) 1963 

 In which year Allport changed five last word of his personality definition " Unique 

 adjustment to his environment to "Characteristis behaviour and thought? 

 (a)  1960    (b) 1961   (c) 1962  (d) 1963 

 

200- ;qax (Young) us 'khyxq.kksa ds vk/kkj ij O;fDro dks eq[;r% fdrus Hkkxksa esa ck¡Vk gS\\ 

 (a) 6      (b) 3           (c) 5  (d)   4 

 In how many parts Young divided personality on the basis of trait ? 

 (a)  6     (b) 3     (c) 5  (d)   4 

 

201- O;fDrRo ds Hkkoewyd mikxe ds izeq[k leFkZd fuEufyf[kr esa ls dkSu euksoSKkfud gSa\ 

 (a) feYyj ,oa tsykbZ        (b) dVZ ysfyu 

 (c) xksMksZu vkyiksVZ         (d) vYcVZ oS.Mqjk 

 Who among the following psychologist is the main supporter of Idiographic  

 Approach of personality? 

 (a)  Miller & Dollard      (b) Kurt Levin 

 (c)  Gordon Allport       (d) Albert Bandura 

 

202- ,.MksekQhZ esa O;fDr ds 'kjhj dk dk xBu dSlk gksrk gS\ 

 (a) nqcys irys          (b) lqMkSy     

 (c) eksVs            (d) xksykdkj 

 Which type of physique have the Endomorphy? 

 (a) Lean & thin         (b)  Shapely     

 (c)  Fat           (d) Elongated 

 

203- LFkwydk; izdkj ds fpÙkizÑfr okys O;fDr dks Øs'ej us fdl uke ls lacksf/r fd;k gS\ 

 (a) fltksvk;M          (b) lkseSVksVkbi  

 (c) lkbDyksvkM          (d) mRlkg fookn 

 What name has been given to the pykmic type of personality by Kretschmer? 

 (a)   Schizoid         (b)  Somatotype  

 (c)   Cycloid          (d)  Manic-depressive 

   

204- ,.MksekQhZ izdkj ds LoHkko okys O;fDr dks 'ksYMu us D;k dgk gS\ 

 (a) iq"Vdk;izdkj         (b) ,DVksekQhZ   

 (c) foljksVksfu;k           (d) lsjhczksVksfu;k 

 Which name has been give to the Endomorphy type of personality by Sheldon? 

 (a)   Athletic type        (b)  Ectomorphy  

 (c) Viserotonia          (d)  Cerebrotonia 
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205- fQzMeSu rFkk jkstsueSu us vius 'kks/ksa ds vk/kj ij O;fDrRo ds fdrus izdkj crk;s gSa\ 

 (a) 5     (b) 2    (c) 8  (d) 3 

 How many types of personality has been told by Friedman & Rosenman according 

to his researches? 

(a)  5     (b) 2    (c)  8  (d) 3 

 

206- fQzMeSu rFkk jkstsueSu ds vuqlkj O;fDrRo ds nks izdkj dkSu&dkSu ls gSa\ 

 (a) Vkbi , vkSj Vkbi ch       (b)  Vkbi lh vkSj Vkbi Mh   

 (c) Vkbi bZ vkSj Vkbi ,Q       (d)  Vkbi th vkSj Vkbi ,Q 

 Which are the two types of personality according to Friedman & Roseman? 

 (a)  Type A Type B       (b) Type C and Type D 

 (c)  Type E and Type F     (d) Type G and Type F 

207- Vkbi ^,* vkSj Vkbi ^ch* iSVuZ dk ekiu fdl Ldsy }kjk gksrk gS\ 

  (a)   VkbZi ,@ch@lh ilZukfyVh Ldsy   (b) vkbZ0D;w0 Ldsy 

  (c) izkstsfDVo Ldsy        (d) izkstsfDVo VsLV 

 Through which scale type 'A' and type 'B' pattern of personality is measured? 

 (a)  Type A/B/C personaltiy patter scale (b) I.Q. Scale 

 (c)  Projective Scale      (d) Projective Test 

 

208- Vkbi ,@ch@lh ilZukfyVh iSVuZ Ldsy fdu nks euksoSKkfudksa ds }kjk fodflr fd;k x;k gS\ 

 (a) MkW0 v:.k dqekj flag rFkk rFkk v'kksd dqekj (b) fxyQksMZ vkSj jkstsueSu 

 (c) vkbtsad vkSj ;qax        (d) vkyiksVZ vkSj 'ksYMu 

 Point out from the following options the two psychologist who developed type  

 A/B/C personality pattern ? 

 (a)  Dr. Arun Kr. Singh & Dr. Ashok Kr. Singh   (b) Gilford and Roshenman 

 (c)  Eyscenk and Yung      (d) Allport and Sheldon 

 

209- O;fDrRo dh ;g ifjHkk"kk] ^^O;fDr;ksa ds vuwBs laosxksa] fpUruksa rFkk O;ogkjksa ds lkis{k :i ls fLFkj  

 iSVuZ ds :i esa O;fDro dks lkekU;r% ifjHkkf"kr fd;k tkrk gS**] fdlds }kjk nh xbZ gS\      

 (a) pkbYM (1968)         (b) okYVj feldsV (1981)   

 (c) csjksu (Baron, 2006)       (d) vkbtsUd  (1952) 

 The definition of personality "Personality is generally defined as individual's unique 

and relatively stable patterns of behaviour, thoughts and emotions" 

 (a)  Child (1968)       (b) Walter Mischel (1981) 

 (c)  Baron (2006)       (d) Eyscenk (1952) 

210- lksyg O;fDrRo dkjd iz'ukoyh dk fuekZ.k fdl euksoSKkfud us fd;k\ 

 (a)  dSV~Vy          (b) CykSd rFkk eSd ,Me~l  

 (c ) ukSjeSu          (d)  vkyiksVZ 

 Sixteen personality factor quuestionnaire or sixteen PF Questionnaire was 

developed by which Psychologist? 

 (a)  Cattle  (b)  Block & MC Adams  (c) Norman  (d) Allport 
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211- ^^nh fox Qkbo** dhs ladYiuk fdl euksoSKkfud }kjk nh xbZ\ 

 (a)  uksjeSu    (b) csjksu    (c) vkbZtsUd  (d) vkyiksVZ 

 The concept of  "The Big Five" was given by which Psychologist? 

 (a)  Norman   (b) Barone  (c) Eysenck (d) Allport 

 

212- nh fcx Qkbo dks ekius ds fy, fdl euksoSKkfud us ,d iz'ukoyh dks fodflr fd;k ftls  

 Inventory Revised ;k NEO-PI-R (fu;ksO;fDrRo) vkfo"dkfjdk la'kksf/r dgk x;k\ 

 (a)  okYyj ,oa cus ikjs;      (b) gkWYy rFkk fy.Mts 

 (c)  dksLVk ,oa eSdØs       (d) vkyiksVZ 

 Which psychologist developed a questionnaire to measure the Big Five concept 

which is called NEO-Personality Inventory Revised or NEO-PI-R? 

 (a)  Waller & Ben-Porath    (b) Hall & Lindzey 

 (c)  Costa & Maccare     (d) Allport 

 

213- fdl xzafFk dks ekLVj xazfFk Hkh dgk tkrk gS\ 

 (a)  ,Mªhuy xzafFk   ([k) d.B xzafFk    (x) ih;q"k xzafFk (d) mid.M xzafFk 

 Which gland is also called 'Master gland"? 

 (a)  Adrenal Gland       (b) Thyroid Gland   

 (c)  Pituitary Gland       (d) Parathyroid Gland 

 

214- vJq xazafFk rFkk ykj xzafFk fdl izdkj dh xzafFk dk mnkgj.k gS\ 

 (a)  ofg% lzkoh xzafFk        (b)  vUr% lzkoh xzafFk 

 (c)  ,Mªhuy xzafFk        (d)  d.B xzafFk 

 Tear gland and saliva glands are the example of which gland? 

 (a)  Exocrine Gland        (b) Endocrine Gland 

 (c)  Adrenal Gland       (d) Thyroid Gland 

 

215- ih;w"k xzafFk dgk¡ fLFkr gksrh gS\ 

 (a)  efLr"d esa         (b) es:jTtw esa   

 (x)  dsUæh; raf=dk ra= esa      (d) Lok;Ùk raf=dk ra= esa 

 Where is pitutary gland situated? 

 (a)  Brain          (b) Spinal Cord 

 (c)  Central Nervous System    (d) Autonimus Nervous System 

 

216- ih;w"k xzafFk ds vxzorhZ Hkkx ls tks gkjeksUl fudyrk gS] mls D;k dgrs gSa\ 

 (a)  ,ihusQzhu         (b) ,Mªhukyhu 

 (c)   ukSj,ihusQzzhu         (d) lkseSVksVªksfiu 

 The harmone which is secreted from the anterior part of pitutary gland is  

 called: 

 (a)  Epinephrine        (b) Adrenaline 

 (c)  Norepinephrine       (d) Somatotropin 
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217- ,Mªhuy xzafFk dk LFkku dgk¡ gksrk gS\ 

(a) oD̀d ds mij    (b) vkar esa   (c)  efLr"d esa (d) es:jTtw esa 

 Where is Adrenal gland located in: 

 (a)  Above Kidney  (b) Intestine   (c) Brain   (d) Spinal Cord 

 

218- vkikfrd gkjeksUl fdl gkjeksUl dks dgrs gSa\ 

(a)  ,Mªhukyhu    (b) ukWj,ihusQzhu  (c) lkseSVksVªksfeu (d) Vªksfid gkjeksUl 

 Which Harmones is called Emergency Harmones? 

 (a)  Adrenaline        (b) Norepinephrine   

 (c)  Somatotropin       (d) Tropic Hormones 

 

219- mid.B xzafFk dk otu fdrus xzke ds yxHkx gksrk gS\ 

(a)   0-5 xzke    (b) 0-2 xzke   (c) 0-1 xzke  (d) 500 xzke 

 The weight of parathyroid gland is approximately? 

 (a)  0.5 gm    (b)  0.2 gm (c) 0.1 gm (d) 500 gm 

 

220- iSafØ;kl dgk¡ fLFkr gksrk gS\ 

(a)  vek'k; ds mQij (b) oD̀d ds ikl   (c) vkar ds cxy esa (d)vek'k; ds uhps 

 Where is Pancreas situated in our Body? 

 (a)  Above Stomach      (b) Beside Kidney 

 (c)  Beside Intestine      (d) Below Stomach 

 

221- ekbuslksVk eYVhiQsthd ilZukfyVh buosaVªh&2 esa fdrus ,dka'k Fks\ 

 (a) 420     (b) 550    (c) 551  (d) 350 
 How many items were there in Minnesota Multiphsic personality Inventory-2? 

 (a)  420     (b) 550   (c) 551  (d) 350 

 

222- cqMoFkZ ilZuy MkVk buosaVªh esa dqy fdrus iz'u Fks\ 

 (d) 120    ([k) 114    (x) 118  (d) 116 

 How many Questions were there in woodworth Personal Data Inventory? 

 (a)  120    (b) 114   (c) 118  (d) 116 

 

223- ^^dSfyQksfuZ;k lkbdksykWftdy vkfo"dkfjdk** dk ekSfyd fuekZ.k fdl o"kZ gqvk\ 

 (a) 1956     (b) 1957    (c) 1958  (d) 1959 

 In which year California Psychological Inventory or CPI was Constructed? 

 (a)  1956    (b) 1957   (c) 1958  (d) 1959 

 

224- ^^dSfyQksfuZ;k lkbdksykWftdy vkfo"dkfjdk** dk la'kks/ku fdlds }kjk vkSj fdl o"kZ esa   

 fd;k x;k\ 

(a) xQ 1987    (b) vkyiksVZ 1957  (c) vkbtsUd 1942  (d) dSVsy 1962 
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 In which year and by whom "California Psychological Inventory-CPI was 

amended? 

 (a)  Gough 1956  (b)  Allport 1957 (c)  Eysenck 1942    (d) Cattle 1962 

 

225- csy lek;kstu vkfo"dkfjdk dk fuekZ.k fdl o"kZ fd;k x;k\ 

 (a) 1934     (b) 1952    (c) 1961     (d) 1961 

 In which year Bell adjustment Inventory was constructed? 

 (a)  1934    (b)1952     (c)1961     (d)1935 

 

226- lksyg O;fDrRo dkjd iz'ukoyh fdl euksoSKkfud ds }kjk fodflr fd;k x;k\ 

 (a) xQ      (b) csy    (c) dSVsy  (d) ;qax 

 Sixteen Personality Factor Questionnaire was developed by: 

 (a) Gough    (b) Bell    (c)Cattle      (d)Young 

 

227- jks'kkdZ ijh{k.k dk vkfo"dkj fdlus vkSj dc fd;k\ 

 (a)  dsUV rFkk jkstsUQ] 1910    (b) jSIikiksVZ 1946 

 (c)  gjeu jks'kkdZ] 1921      (d) jkstsufo'k] 1949 

 Invention of Rorschach test was done by whom and In which year? 

 (a)  Kent & Rosanoff, 1910   (b) Rappaport, 1946 

 (c)  Hermann Rorschach, 1921  (d) Rosenwig, 1949 

 

228- jks'kkdZ ijh{k.k esa fdrus dkMZ gksrs gSa\ 

(a)  10      (b) 20    (c) 30  (d)  40 

 How many cards are there in Rorschach test? 

 (a) 10      (b) 20    (c) 30  (d) 40 

 

229- O;fDro ds 'khyxq.k fl+)kar dk izfriknu fdlus fd;k\ 

 (a) jks'kkdZ ,oa feYyj       (b) flxe.M  Qzk;M    

 (c) (a) vkSj (b) nksuksa         (d) xkSMZu vkyiksVZ 

 Who gave the Trait Theory of Personality? 

 (a)  Rorschach and Miller     (b) Sigmund Freud 

 (c)  (a) and (b) Both      (d) Gordon Allport 
 

230- fyaMLys]1951 us vius iz;ksxksa esa fdl midj.k dk iz;ksx fd;k Fkk\ 

 (a) ,ysDVªks,Ulh QSyksxzkQ  (b)  iksfyxzkQ 

 (c) xSYokuksehVj         (d) bysDVªksdkfMª;ksxzkQ 

 Which instrument was used by Lindsley in his experiments? 

 (a).  Electroencephalograph  (b)  Polygraph 

(c) Galvanometer   (d)  Electrocardiograph 

 

231- cqf+) loZizFke fdlus vkSj dc ifjHkkf"kr fd;k\ 

 (a)  osDlyj (1939)      (b) oksfjax (1923) 

 (c)  bZ0 ,y0 FkkuZMkbd (1925)   (d) ih0bZ0 ouZu (1969) 
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 Who defined Intelligence first & When? 

 (a)  Wechsler (1939)     (b) Boring (1923) 

 (c)  E.L. Thorndike (1925)   (d) P.E. Vernon, (1969) 

 

232- FkWkuZMkbd us cqf+)  ds dkSu&dkSu ls izdkj crk;s gSa\ 

(a) lkekftd cqf+)  (b) vewfrZ cqf+)  (c)  ewÙkZ cqf+) (d) mi;qDr lHkh 

 According to Thorndike what are the types of Intelligence? 

 (a)  Social Intelligence     (b) Abstract Intelligence 

 (c)  Concrete Intelligence    (d) All of these. 

 

233- ekufld vk;q ds lEizR;; dk izfriknu fdu euksoSKkfudksa ds }kjk fd;k x;k Fkk\ 

 (a)  fcus rFkk lkbeu       (b) fofy;e LVuZ rFkk VjeSu   

 (c)  (d) vkSj (([k)nksuksa      (d) mi;qZDr esa ls dksbZ ugha 

 Who developed the concept of Mental Age? 

 (a)  Binet and Simon     (b) William Stern & Terman   

 (c)  (a) & (b) Both      (d) None of these 

 

234- fcus lkbeu ijh{k.k dk lcls egRoiw.kZ la'kks/u fdlus vkSj fdl fo'ofo|ky; esa fd;k\ 

 (a) VjeSu] vkWDliQksMZ fo'ofo|ky;   (b) LVuZ] gkoMZ fo'ofo|ky; 

 (c) lkbeu] cukjl fgUnw fo'ofo|ky;      (d) fcus] jk¡ph fo'ofo|ky; 

 Who and where made the most important Amendment of Binet-Simon test? 

 (a)  Terman, Stanford University   (b) Sterm, Howard University 

 (c)  Simon, Banaras Hindu University (d) Binet, Ranchi University 

 

235- fdlh O;fDr dh cqf+) yfC/k fudkyus dk lw= D;k gS\       

 (a)  ekufld vk;q@rSfFkd vk;q × 100     (b)  100 / ekufld vk;q × rSfFkd vk;q  

 (c) rSfFkd vk;q / 100 × ekufld vk;q      (d)  mi;qZDr lHkh 

 What is the formula of derieving I.Q. of any person? 

 (a)  M.A/C.A × 100      (b) 100/M.A × C.A. 

 (c)  C.A/100 × M.A.     (d) Above All 

 

236- cs'kyj us cqf) dks ifjHkkf"kr djus esa fdl mikxe dk lgkjk fy;k\ 

 (a)  vk.kfod mikxe      (b)     lkoZtfud mikxe 

 (c)  eksyj mikxe       (d) euksfefrd mikxe 

 Which approach did wecheler used to define Intelligence? 

 (a)  Atomistic Approach    (b) Global Approach 

 (c)  Molar Approach     (d) Psychometric Approach 

 

237- ,d lQy isUVj esa fdl rjg dh cqf) izcy'khyrk gksrh gS\ 

 (a)  vewÙkZ cqf)   (b)ewÙkZ cqf)        (c) lkekftd cqf) (d) rjy cqf) 
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  Which type of Intelligence is prominent in a successful painter? 

 (a)  Abstract Intelligence    (b) Concrete Intelligence 

 (c)  Social Intelligence     (d) Liquid Intelligence 

 

238- dSVsy ds vuqlkj fuEukafdr esa ls dkSu dFku lR; gS\ 

 (a)  cqf) esa 'g' ,oa 's' nks iz/ku dkjd gksrs gSaA 

 (b)  cqf) dk Lo:i rjy ,oa Bksl nksuksa gh gksrk gSA 

 (c)  cqf) va'kr% tUetkr rFkk va'kr% vftZr gksrh gSA      

 (d)  cqf) flQZ nks izdkj dh gksrh gS&Hkk"kh; ,oa LFkkfud 

 According to cattle which statement is true among the following:- 

 (a)  'g' and 's' are two main factors in intelligence. 

 (b)  The nature of Intelligence is liquid and crystallized both. 

 (c)  Intelligence is partially inborn and partially acquired. 

 (d)  Intelligence is only of two types - Linguistics and spatial. 

 

239- cqf) dk Lo:i fctyh ds leku gksrk gS ftls ekiuk vklku gS ijUrq ifjHkkf"kr djuk   

 eqf'dy gSA** ;g mfDr fdudk gS\ 

 (a)  Lih;jeSu    (b)   tsulu  (c) fcus  (d) xkMZuj 

 "Intelligence, like electricity, is easier to measure than to define "Whose statement 

is this:- 

 (a)  Spearman   (b)  Jenson (c) Binet  (d) Gardner 

240- oslyj cqf) ijh{k.k dks vki fdu Js.kh esa j[ksaxs\ 

 (a)  'kkfCnd ijh{k.k                 (b) fØ;kRed ijh{k.k   

 (c)  v'kkfCnd ijh{k.k                (d) 'kkfCnd fØ;kRed ijh{k.k 
 In which category will you keep wechsler Intelligence Test? 

 (a)  Verbal Test         (b) Performance Test 

 (c)  Non-Verbal Test      (d) Verbal Performance Test 

 

241- ;fn fdlh O;fDr dk cqf) ekud izkIrkad $20 gks] rks mldh fopyu cqf) yfC/k fdruh gksxh \ 

  ( tcfd ekè; ¾ 100 rFkk ekud fopyu ¾ 15 )  

 (a)   85      (b)   115  (c)  130  (d) 145 

 If an Individuals intelligence standard score is +20, then what will be his deviation 

IQ,  (If mean = 100 and standard deviation is 15)? 

 (a)  85      (b)  115  (c) 130  (d) 115 

 
242- dSuu&okMZ fl)kUr ds vuqlkj gkbiksFkSyel fdruh fn'kk es raf=dk vkosx Hkstrk gS\ 

 d& nks    [k& ,d 

 x& rhu    ?k& pkj 

 In how many directions does Hypothalamus send nerve impulses according to 

 Cannan Bard theory? 

 A  Five      B.  One 

 C.  Three      D.  Four 
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243- ihokWMhZ fp=k 'kCnkoyh ijh{k.k dk fuekZ.k fdlds }kjk fd;k x;k\ 

 (a)  dSVsy    (b) fcus    (c) lkbeu  (d) MUu 

 Who constructed peabody picture vocabulary test or PPVT? 

 (a)  Cattell   (b)  Binet  (c) Simon (d) Dunn 

 

244- dSVsy }kjk fufeZr@fodflr cqf) ijh{k.k dk D;k uke gS\ 

 (a)  Mªk&,&eSu ijh{k.k      

 (b)  jSosu izksxsflo eSVªhlst 

 (c)  os”yj Ldsy       

 (d)  dSVsy laLÑfr eqDr ijh{k.k 

 What is the name of Intelligence test developed by Cattell? 

 (a)  Draw-a-Man test    

 (b)  Ravens's Progressive 

 (c)  Weschler Scale    

 (d)  Cattell's Culture - Free - Intelligence Test 

 

245- Lih;jeSu fdl ns'k ds euksoSKkfud Fks\ 

 (a)  vesfjdk    (b) :l    (c) phu  (d) fczVsu 

 From which Country the Psychologist  Spearman belong to? 

 (a)  America    (b)  Russia (c) China  (d) Britain 
 

246- Lih;jeSu us vius f}dkjd fl|kUr dk izfriknu fdl o"kZ fd;k\ 

 (a)  1904    (b) 1905   (c) 1906  (d) 1907 

 In which year S pearman developed his two factor theory of intelligence? 

 (a)  1904     (b)  1905  (c) 1906  (d) 1907 

 
247- fyaMLys]1951 ds vuqlkj laosx fdl ij fuHkZj djrk gS\ 

 (a)& gkbiksFkSyel lfØ;rk        (b)  'kkjhfjd ifjorZu 

 (c)    izefLr"d cYd ds lfØ;.k Lrj       (d)  lwpukvksa ds lgh ewY;kadu 

 According to Lindsley, 1951 emotion depends on which process: 

 (a)  Hypothalamus activation 

 (b)  Bodily changes 

 (c)  Level of Cerebral cortex activation. 

 (d) Correct appraisal of information. 

 

248- og dkSu lh izfØ;k gS tks ekuo dks O;ogkj djus ds fy, “kfDr iznku djus ds lkFk&lkFk  

mn~ns'; dh izkfIr dh vksj c<+krk gSA 

(a)& vf/kxe      (b)  Lèfr 

(c) vfHkizsj.k      (d)  laosx 

Which process not only provides energy for behavior but also directs it towards 

goal? 

(a) Learning     (b)  Memory 

(c)  Motivation             (d)  Emotion 
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249- vfHkizsj.k ds Lo:i ds fdrus ewy rRo gksrs gS\ 

 (a) ,d      (b)  rhu 

 (c)   pkj      (d) ikap 

 How many basic motivational concepts are there? 

 A. One      (b) Three 

 (c) Four      (d) Five 

 
250- oqMoFkZ rFkk LdykSlacxZ] 1954 ds vuqlkj 'kjhj esa fdlh pht dh deh ;k vfr dh voLFkk dks D;k 

dgrs gS\ 

 (a) vko';drk     (b)  iz.kksn 

 (c)  izksRlkgu     (d) deh 

 According to Woodwoth and Schlosberg (1954), the organic state of  

deficiency or excess of anything is body is called? 

 A. Need      (b)  Drive  

 (c) Incentive      (d)  Deficiency 

 

251- “izk.kh esa ruko ;k fØ;k'khyrk dh voLFkk tks fdlh vko’;drk ls mRiUu gks”, dkSu lh voLFkk dgrs 

gS\ 

 (a) izksRlkgu     (b)  vko';drk 

 (c)  iz.kksn      (d)  Hkze 

 The state of tension and activity that is aroused by any need”  in a person is termed  

as- 

 (a) Incentive      (b) Need 

 (c) Drive       (d)  illusion 
 

252- fn;s x, y{;ksa esa dkSu lk /kukRed y{; ugha gS\ 

 (a)  Hkkstu      (b)  ikuh 

 (c)  LokLF;      (d) n.M 

 Among the given goals, which is not a positive goal? 

 A. Food      (b) Water 

 (c) Health      (d)  Punishment  
 

253- lgh vfHkizs.kkRed pØ dkSu lk gS\ 

 (a) izksRlkgu & iz.kksn & vko”;drk 

 (b)    iz.kksn & vko';drk & izksRlkgu 

 (c)  vko';drk & iz.kksn & izksRlkgu 

 (d)   dksbZ ughaA 

 Which one represent the correct motivational cycle? 

 A. Incentive _ Drive _ Need 

 (b) Drive – Need – Incentive 

 (c) Need – Drive – Incentive 

 (d) None 

 
254- buesa ls dkSu vfHkizsjd ds izdkj gS\ 

 (a) tUetkr vfHkizsjd   (b)vftZr vfHkizsjd 

 (c)   d vkSj [k nksuksa    (d) dksbZ ugha 
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 Which is the type of motivation from the given options below? 

 A.  Inborn motive   (b) Acquired motive 

 (c)   Both A and B   (d)  Drive 

 
255- fn;s x;s vfHkizsjdksa esa dkSu lk tUetkr vfHkizsjd ugha gS\ 

 (a)& Hkw[k     (b)eyew= R;kx 

 (c)    uhan     (d) miyfC/k 

 From the given motives which on is not an inborn motive? 

 A. Hunger     (b) Eliminative motive 

 (c) Sleep     (d) Achievement 

 
256- efLr’d esa dkSu lk Hkkx@vax Hkw[k ls lEcfU/kr gksrk gS\ 

 (a)& gkbiksFkSye    (b)  ih;w"k xzfUFk 

 (c)   FkSyel     (d)  esMqyk 

 Which part of brain is related to hunger? 

(A)  Hypothalamus   (b)  Pituitary gland 

 (c) Thalamus    (d)  Medulla 

 
257- vfHkizsjd O;ogkj dh dqN fo'ks"krk,a gksrh gS] fuEukafdr esa ls dkSu lh vfHkizsjd dh fo'ks"krk ugha gSA 

 (a)& vfHkizsjd O;ogkj y{; funsZf'kr gksrk gSA 

 (b)  vfHkizsjd O;ogkj pØh; gksrk gSA 

 (c) vfHkizsfjr O;ogkj esa jDrpki] ân; xfr rFkk 'olu xfr rhoz gks tkrh gSA 

 (d)  vfHkizsfjr O;ogkj vis{kkd`r LFkk;h ifjorZu gSA 

 Among the given statements which one does not represent the characteristic of 

 motivational state behavior? 

 A.   Motivated behavior is goal directed. 

 (b)  Motivated behavior is cyclical. 

 (c)  In motivated behavior blood pressure, heart beat and respiratory function  

       increase. 

 (d) Motivated behavior is relatively permanent change in behavior. 
 

 

258- Hkw[k ds LFkkuh; mn~nhid fl)kUr (Local stimulus theory) ds vuqlkj Hkw[k dh mRifRr gksrh gS& 

 (a)& cgqr nsj rd Hkkstu ugha djus lsA 

 (b)   vkek'k; dh ekalisf'k;ksa esa ladqpu gksus lsA 

 (c)   Hkw[k nnZ ls 

 (d) jDr esa phuh dh ek=k c<+ tkus lsA 

 According to Local Stimulus theory of hunger, cause of hunger is - 

 A. Long hour of not eating food. 

 (b) Contraction in the muscles of stomach. 

 (c) Due to hunger pangs. 

 (d)  Increase sugar level in blood. 
 

259- I;kl ds LFkkuh; fl)kUr ds vuqlkj] I;kl fdl dkj.k ls ge vuqHko djrs gS\ 

 (a)& eaqg lw[kuk    (b)  dks'kdh; futZyu 

 (c)  [kwu dh ek=k esa deh   (d)  gkjeksUl fØ;k 
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 According to Local theory of Thirst, thirst is experienced because of – 

 A. Dryness in mouth   (b)  Cellular dehydration 

 C. Decrease in blood volume   (d) Hormone activity 

 
260- fØ;k pØfof/k }kjk fdldk vfHkizsjd ekik tkrk gS\ 

 (a)   tkuojksa     (b)  euq";ksa 

 (c)   ¼d½ vkSj ¼[k½ nksuksa         (d)   fdlh dk ugha 

 whose motive is measured by activity wheel method? 

  (a) Animals                                     (b) Humans 

(c)(A) and (B) both                       (d) None 

261- fdl fof/k }kjk i'kqvksa esa tSfod vfHkizsjd dh eki ugha dh tk ldrh gS\ 

 (a)& fØ;kpØ fof/k    (b)  ifjfLFkfrtU; ijh{k.k 

 (c)  vojks/k fof/k    (d) ilan fof/k 

 Biological motive of animal cannot be measured by the method - 

 A. Active wheel method    (b)  Situational Test 

 (c)  Obstruction method   (d)  Preference method 

 
262- 'kjhj esa ikuh] ued] vkDlhtu] rki vkfn ds lUrqyu dks cuk, j[kus dh izfØ;k dks D;k dgrs gS\ 

 (a)&  gksfe;ksLVsfll         (b)  larqyu 

 (c)   vfHkizsj.k     (d) vko';drk 

 The process to maintain a balance of water, salt, oxygen, temperature etc in the  

body is called - 

 A. Homeostasis    (b)  Balance 

 (c)  Motivation    (d) Need 

 
263- fuEufyf[kr esa ls dkSu lk vftZr vfHkizsjd ugha gS\ 

 (a)& miyfC/k     (b)  lEcU/ku 

 (c)   'kfDr     (d)  dke 

 Among the given motives which one is not an acquired motive? 

 A. Achievement    (b)  Affiliation 

 (c)  Power/status    (d)  Sex 
 

264- vojks/k fof/k esa tSfod vfHkizsjd ds ekius ds iz;ksx fMCcs esa] fdrus fMCcs gksrs gSa\ 

 (a)& ,d     (b)  nks 

 (c)  rhu     (d) pkj 

 How many compartments are there in the box used in obstruction method to 

 measure biological motive? 

 (a) One      (b)  Two 

 (c) Three     (d)  Four 
 

265- tSfod vfHkizsjd dks ekius ds fy, vojks/k fof/k esa vojks/k gksrk gS& 

      (a) fctyh dk v?kkr              (b)ikuh  dk pksV 

      (c) vf/kd rkieku                  (d)  de rkieku    

 To measure biological motivation by obstruction method, obstruction is present in  

the form of- 

 (a)  Electric shock    (b). Water pressure 

 (c)  Hot/high temperature   (d)  Low Temperature 
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266- vko';drk dh izcyrk dks lh[kuk fof/k esa fdl vk/kkj ij ekik tkrk gS\ 

 (a)& vko';drk    (b)  fØ;k 

(c).  rRijrk     (d) ilan 

By learning method strength of a need can be measured on the basis of- 

A. Need     (b)   Activity 

(c). Readiness    (d) Preference 

 
267- euksfo'ys’k.kokn esa Ýk;M us ekuo thou vkSj O;ogkj esa fdl vfHkizsj.k dks egRo fn;k gS\ 

 (a)& tSfod vfHkizsj.kk    (b)vftZr vfHkizsj.kk 

 (c)  vpsru vfHkizsj.kk    (d) O;fDrd vfHkizsj.kk 

 In Psychoanalytic approach Freud has stressed on which motive? 

 A. Biological Motive   (b) Acquired motive 

 (c)  Unconscious motive   (d)  Personal motive 
 

268- vfHkizsj.k 'kCn ySfVu Hkk"kk ds fdl “kCn ls fd;k x;k gS\ 

 (a) Movere     (b)  Emouvoir 

 (c)  Memer     (d) Persona 

 The word “Motivaton” is derived from which Latin word? 

 (a) Movere    (b)  Emouvoir 

 (c)   Memer    (d)  Persona 

 
269- lh[kus dh izfØ;k esa vfHkizsj.k dh D;k Hkwfedk gksrh gS\ 

 (a)& lgk;d      (b)  ck/kd 

 (c)  ¼d½ vkSj ¼[k½     (d) dksbZ Hkwfedk ugha gksrh 

 What is the role of motivation in learning? 

 (a) Facilitate     (b) Hinder 

 (c)  A and B     (d) No role 

 
270- ekuo lh[kuk esa i'kqvksa dh vis{kk fdl vfHkizsjd dk vf/kd egRo gS\ 

 (a)& tSfod      (b)  vftZr 

 (c)  vkUrfjd] ckº;    (d) -(b)  vkSj (c)  nksuksa 

 Which motive is more important in human learning as compared to animal? 

 (a) Biological    (b)  Acquired 

 (c)   Intrinsic, Extrinsic   (d). Both b and c 

 
271- flxeaM Ýk;M ds vuqlkj fuEufyf[kr esa ls dkSu ewy izof̀Rr dh fo'ks"krk ugha gSA 

 (a)  fØ;k     (b) lzksr 

 (c)  mn~ns';     (d) izsjd 

 According to Sigmund Freud, which one is not the characteristic of Instinct? 

 (a)  Action    (b)  Resource 

 (c)  Aim     (d) Impetus 

 
272- Ýk;M ds vuqlkj ewy izof̀Rr ds nks eq[; izdkj dkSu lk gS\ 

 (a)& vga rFkk ijkga    (b)  ,sjksl rFkk FkSukVksl 

 (c)  psru rFkk vpsru    (d)  mokga rFkk ijkga 
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 Which among the given, are the two instincts according to Freud? 

 (a)  Ego, Superego    (b)  Eros, Thanatos 

 (c)  Conscious, Unconscious  (d)  Id, Superego 
 

273- Ýk;M ds euksfo'ys"k.k fl)kUr fdl mikxe ;k fl)kUr esa j[kk tkrk gS\ 

 (a)& ewy izof̀Rr fl)kUr   (b)  iz.kksn fl)kUr 

 (c)  izksRlkgu fl)kUr    (d) vko';drk] inkuqØe fl)kUr 

 Freud’s Psychoanalytic theory can be put under which approach. 

 (a)  Instinct theory   (b) Drive Theory 

 (c)   Incentive Theory   (d) Need Hierarchy Theory 

 
274- fuEufyf[kr esa ls eSlyks ¼1954½ us fdl fl)kUr dk izfriknu fd;k\ 

 (a)&  mRrstu fl)kUr   (b)  y{; fu/kkZj.k fl)kUr 

 (c)  euksfo'ys"k.k fl)kUr   (d)  vko';drk inkuqØe fl)kUr 

 Which theory was given by Maslow (1954), among the given theories? 

 (a) Arousal theory    (b)  Goal, Setting theory 

 (c)   Psychoanalytic theory  (d)  Need Hierarchy Theory 

 
275- eSlyks us vius fl)kUr] vko';drk inkuqØe fl)kUr esa lcls uhps fdl vko';drk dks j[kk gS\ 

 (a)& 'kkjhfjd vko';drk   (b)  lEeku dh vko';drk 

 (c)  lqj{kk vko';drk    (d)  vkReflf) dh vko';drk 

 Which need is placed first by Maslow in his Need Hierarchy Theory ? 

 (a) Physiological need   (b) Esteem need.  

 (c) Safety needs    (d)  Self actualization need. 

 
276- fuEufyf[kr esa ls dkSu eSlyks ds mPp Lrj dh vko';drk ugha gS\ 

 (a)& lEeku     (b) vkReflf) 

 (c)   lqj{kk     (d) lEc/ku Lusg 

 Which need does not belong to upper level need according to Maslow? 

 (a) Esteem    (b) Self actualization 

 (c)  Safety     (d)  Affiliation Love 

 
 

277- y{; fu/kkZj.k fl)kUr ds vuqlkj O;fDr dk fu"iknu mRre gksrk gS tc y{; ------ gksrk gS\ 

 (a)& fof'k"V     (b)  lkekU; 

 (c)  tfVy     (d) vU; O;fDr }kjk fu/kkZfjr 

 According to goal setting theory performance is best when goal is---- 

 (a) Specific    (b)  General 

 (c)   Complex    (d)  Set by other 

 

278- ^laosx* in dk vaxzsth 'kCn “Emotion” ysfVu 'kCn ls cuk gS tks gS& 

 (a)& Movere    (b)  Emovere 

 (c)  Memor     (d)    Optus 

 The word “Emotion” is derived from the Latin word- 

 (a) Movere    (b)  Emovere 

 (C).  Memor    (d)    Optus 
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279- laosx fdl izdkj dh voLFkk gS\ 

 (a)& tfVy Hkko voLFkk     (b) deh ;k vfr dh 'kjhfjd voLFkk 

 (c)  leL;k lek/kku dh voLFkk    (d) ljy Hkko 

 Emotion is a state of – 

 (a)  Complex feeling state   (b)  Deficiency or excess state  

 (c)  Problem solving state           (d) Simple feeling state. 
 

280- okVlu (1924) ds vuqlkj fuEufyf[kr esa dkSu lk tUetkr laosx ugha gSA 

 (a)& Øks/k     (b)vuqjkx 

 (c)  Hk;     (d)?k.̀kk 

 According to Watson (1924) which one is not the innate emotion? 

 (a). Anger     (b) Love 

 (c)  Fear     (d)  Disgust 
 

281- laosx dh voLFkk ds igyw gS& 

 (a)& tfVy voLFkk    (b) 'kkjhfjd izfØ;k,a 

 (c)  vkRefu"B Hkko    (d) lHkh 

 The features of emotional state are- 

 (a) Complex state   (b)  Bodily reaction 

 (c)   Subjectiv feeling            (d)   All 
 

282- fuEufyf[kr esa dkSu lk laosx rRo ls lEcfU/kr ugha gS\ 

 (a)& nSfgd     (b)  :fp 

 (c)  laKkukRed    (d)  O;ogkjidj 

 Which among the following is not related to emotional component? 

 (a) Physical     (b) Interest 

 (c) Cognitive    (d) Behavioral 

 
283- fuEukafdr esa dkSu lk ckº; 'kkjhfjd ifjorZu laosx esa gksrk gS 

 (a)& jDpki esa ifjorZu   (b)lk¡l dh xfr 

 (c) vkuu vfHkO;fDr    (d) xzaUFkh; lzko esa ifjorZu 

 Which is an external bodily change in emotion? 

 (a) Change in blood pressure  (b). Change in respiration rate 

 (c)   Chang in Facial expression (d)  Change in Glandular Secretion 

 
284- laosx gksus dh voLFkk esa buesa ls dkSu ls “kkjhfjd ifjorZu gksrs gSa] tks ckgj ls nf̀’Vxkspj gksrs gSa \ 

 (a)& 'kkjhfjd eqnzk    (b)  Loj vfHkO;fDr 

 (c)  vkuu vfHkO;fDr    (d) lHkh 

 What are the external bodily changes associated with emotion? 

 (a) Bodily postures   (b) Vocal expression 

 (c)  Facial expression   (d)  All 
 

285- laosxkoLFkk esa fdl gkeksZu dh vf/kd ek=k ikbZ tkrh gS\ 

 (a)&  ,fMªfuu     (b)  ukbjfMªuyhu 

 (c)   Fkk;jkDlhu    (d),UMªkstsUl 

 Which hormone is secreted more in an emotional state? 

 (a) Adrenaline    (b)  Noradrenalin 

 (c) Thyroxin    (d)  Androgens 
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286- laosxkoLFkk esa 'kjhj ds fdu vkUrfjd fØ;kvksa esa ifjorZu gksrk gS\ 

 (a)& lk¡l dh xfr    (b)  ân; dh xfr 

 (c)  ikpu fØ;k    (d)  lHkh 

 Which Internal bodily function changes in an emotional state? 

 (a) Rate of respiration   (b) Heart Beat 

 (c)   Digestion activity   (d)   All 

 
287- laosxkoLFkk vuqHko ds fy, dkSu nks xzfUFk;ka vf/kd egRoiw.kZ gS\ 

 (a)& ykj -,fMªUky    (b)  d.B -fiuh;y 

 (c)  ;kSu -d.B    (d)  ,fMªUky -d.B 

 What are the two glands that play important role in experiencing an emotion? 

 (a) Salivary and Adrenal  (b) Thyroid – Pineal 

 (c)  Sex- Thyroid   (d) Adrenal – Thyroid 
 

 

288- fuEufyf[kr esa ls dkSu lk ,fMªuu gkeksZu dk dk;Z ugha gS\ 

 (a)& Fkdku de vkSj nsjh ls vuqHko gksukA (b) [kwu ds forj.k esa ifjorZuA 

 (c)  pikip; esa ifjorZuA   (d)  jDrpki esa of̀)A  

 Which is not the function of adrenaline hormone? 

 (a)  Low and delay of fatigue. (b) Change in distribution of blood. 

 (c)   Change in metabolism.  (d)   Increase blood pressure. 

 
289- xSYosfud Rod~ vuqfØ;k fdl xzfUFk ds dk;Z ij fuHkZj djrk gS\ 

 (a)& ykj xzfUFk    (b) ilhuk xzfUFk 

 (c)   ,fMªuy xzfUFk    (d) d.B xzfUFk 

 On which gland activity Galvanic skin reaction depends? 

 (a)  Salivary gland   (b) Sweat gland 

 (c)  Adrenal gland   (d) Thyroid gland 

 
290- laosx dh mRifRr esa fdl raf=dk ra= dk vf/kd egRo gS\ 

 (a)& vuqdEih raf=dk ra=          (b) dsUnzh; raf=dk ra= 

 (c)  mi vuqdEih raf=dk ra=     (d)   dksbZ ugha 

 Which nervous system play more important role in the arousal of emotion? 

 (a) Sympathetic nervous system      (b). Central nervous system 

 (c) Parasympathetic nervous system(d)  None 

 
291- fuEufyf[kr  esa ls fdl “kkjhfjd ifjorZu esa vuqdEih ra= dh Hkwfedk ugha gksrh gSA  

 (a)- jDrpki c<+kus esa   (b) g̀n; dh xfr c<+kus esa 

 (c) vkW[k dh iqryh QSykus esa  (d) jDrpki lkekU; djus esa 

Sympathetic nervous system doesn’t play any role among which of the given bodily 

changes? 

 (a) Increase in blood pressure (b). Increase heart rate 

 (c) Dilation of pupil   (d) Maintain normal blood pressure 

 
292- fuEufyf[kr esa ls fdls ÅtkZ O;;d ra= dgrs gS\ 

(a)- vuqdEih ra=    (b) mi vuqdEih ra= 

(c) dkf;d raf=dk ra=   (d) dsUnzh; raf=dk ra= 
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Which nervous system is known as energy spending system? 

(a) Sympathetic nervous system  (b) Parasympathetic nervous system 

(c) Somatic nervous system  (d) Central nervous system 
 

293- fn;s x;s raf=dk ra= esa ls dkSu vuqj{k.k ra= ds :i esa dk;Z djrk gS\ 

(a)- vuqdEih raf=dk ra=   (b) mi vuqdEih raf=dk ra= 

(c) dsUnzh; raf=dk ra=   (d) dkf;d raf=dk ra= 

Among the given nervous system which works as a maintenance system? 

(a) Sympathetic nervous system (b) Parasympathetic nervous system 

(c) Central nervous system  (d) Somatic nervous system 

 
294- efLr’d ds fdl fgLls }kjk Lok;Rr raf=dk ra= ij fu;a=.k gksrk gS\ 

(a)- gkbiksFkSysel    (b) esMqyk 

(c) lsrq     (d) y?kq efLr’d  

Which part of brain exerts control on autonomic nervous system? 

(a) Hypothalamus   (b) Medulla 

(c) Pons     (d) Cerebellum 

 
295- fuEukafdr esa ls fdl fl}kUr esa laosxkRed vuqHkwfr vkSj laosxkRed O;ogkj ,d lkFk gksrs gS\ 

 (a) tsEl -ykts fl}kUr   (b) dSuu -okMZ fl}kUr  

 (c) LdSdVj -flaxj fl}kUr   (d) fyMLys fl}kUr 

Which theory states that emotional behaviors and emotional experience occurs 

simultaneously?  

(a) James- Lange theory  (b) Cannon -Bard theory 

(c) Schachter -Singer theory   (d) Lindsley theory 

 
296- okVlu (1924) ds vuqlkj uotkr f”k”kq esa dkSu&lk laosx ugha gksrk gS& 

(a) Hk;     (b) vuqjkx  

(c) Øks/k     (d) bZ’;kZ 

According to Watson (1924) which emotion in not found in inborn or infants? 

(a) Fear     (b) Love 

(c) Anger     (d)    Jealousy 

 
297- laosx ls lEcfU/kr fn;s x;s dFkuksa esa ls dkSu lk dFku xyr gS\ 

(a) laosx ,d tfVy voLFkk gSA  

(b) laosx esa “kkjhfjd ifjorZu gksrk gSA 

(c) laosx ls O;ogkj esa LFkkbZ ifjorZu gksrk gSA 

(d) laosx esa vkRefu’B Hkko gksrk gSA 

From the given statement related to emotion which statement is not true? 

(a) Emotion is a complex state   

(b) Emotion involves bodily changes 

(c) Emotion brings permanent change in behavior 

(d) Emotion involves subjective feelings 

 
298- fuEufyf[kr esa dkSu lk ewy laosx gS\ 

(a) Hk;     (b)- “keZ 

(c) bZ’;k Z     (d) Åc   
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Among the following which is the basic emotion? 

(a) Fear     (b) Guilt 

(c) Jealousy    (d) Boredom 

 
299- fuEukafdr esa ls fdl fl}kUr esa laosxkRed O;ogkj ij laosxkRed vuqHkwfr fuHkZj djrh gS\  

 (a) tsEl -ykts fl}kUr   (b) dSuu -ckMZ fl}kUr  

 (c) LdSdVj -flaxj fl}kUr   (d) fyMLys fl}kUr 

Among the following which theory of emotion states that emotional experience 

depends on emotional behavior? 

(a) James Lange theory  (b) Cannon Bard theory 

(c) Schachter Singer theory   (d) Lindsley theory 

  
300- ^^O;fDr lkWi ns[kdj Hkkxrk gS rks mls Mj dh vuqHkwfr gksrh gS** ;g fdl fl}kUr ds vuqlkj lR; gS\ 

 (a)dSuu ckMZ fl)kar    (b)fyaMls lafdz;.k fl)kar 

(c)lSDVj lSaxj fl)kar    (d) tsEl ykats fl)kar  

“A person runs seeing a snake and feels fear” according to which theory the given 

statement is correct”. 

(a) Canon-Bard theory   (b) Lindsley activation theory 

(c) Schachter s theory   (d) James Lange theory 
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